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FE—TH 545 | 1,424 688 736 0 -2 -3 -1 2
FEI_TH 393 1,125 542 583 0 6 2 0 4
FE=TH 307 863 434 - 429 0 3 1 0 2
_HRETEE 1,245 3,412 1,664 1,748 0 7 0 -1 8
&R —TH 4311 1,088 486 602 -2 -9 -3 -2 -4
EET_TH 407 | 1,099 540 559 | -5 -3 0 -1 -2
EE=TH 459 | 1,225 570 655 2 -1 -3 1 1
EETUT B 428 | 1,388 663 725 0 1 1 0 0
EATE 1,725 | 4,800 2,259 2,541 5] 12 5 2] ()
AE[—TH 196 522 221 301 1 0 3 =2 -1/
AET_TH 265 741 320 421 0 1 0 2 -1
AE=TH 346 | 1,017 451 566 0 -1 1 -2 0
AETUT B 352 976 466 | - 510 0 1 1 -1 1
AMTE 1,159 3,256 | 1,458 1,798 1 1 5 -3 -1
AN 29 78 41 37 0 0 0 0 0
EET—TH 219 645 320 325 0 3 0 0 3
BEI_TH 212 564 251 313 0 1 3 -1 -1
BMET=TH 329 973 457 516 0 4 1 3 0
LI E] 282 694 322 372 0 -5 1 -2 -4
ELIES 1,042} 2,876| 1,350| 1,526 0 3 5 0 -2
F—TH 271 774 372 402 -3 -3 1 -1 -3
FEI_TH 151 407 201 206 0 0 -1 1 0
FEA=TH 442 | 1,155 617 538 -1 6 5 0 1
FEUTH 3131 1,012 499 513 1 -1 0 -1 0
FEHTH 4811 1,148 593 555 -1 1 -1 2 0
EmTE 1,658 | 4,496 2,282] 2 214 -4 3 4 1 -2\)
HRE—TH 771 2,227| 1,069| 1,158 2 0 2 0 -2
®ET_TH 197 582 263 319 -1 0 0 1 -1
HET=TH 478 | 1,336 661 675 -4 -4 -5 0 1
HATWUTH 206 609 296 313 -1 -5 -4 0 -1
HETETE 286 723 341 382 -1 1 2 -1 0
HATE 1,938 5,477 2,630] 2 847 -5 -8 -5 0 =3
BL—TH 667 1,811 893 918 1 -3 -3 -2 2
®WU_TH 517 | 1,397 648 749 -3 -14 -11 -1 -2
BIL=TH 548 | 1,466 731 735 -2 -6 -3 1 -4
(LW TH 190 538 244 294 -1 -6 -6 0 0
R 1,922 | 5,212 2,516 2,696 -5 -29 -23 -2 -4
Bf—TH 1,081 2,863 | 1,467 1,396 -5 -2 3 -1 -4
BfT_TH 655 | 1,826 884 942 -2 -3 3 -3 -3
BfT=TH 563 | 1,518 784 734 -1 -8 -8 -2 2
EETNT B 111 219 123 96 -2 -4 -1 0 -3
BfMETH 594 | 1,712 844 868 -2 -6 -5 0 -1
B ATE 2 3 2 1 0 0 0 0 0
LI 3,006 8,141 | 4,104 4,037 -12 -23 -8 -6 -9



N

BEEESTIEY (ER84E12A 26 B 817)

X 4 HEE | B % 5 = i AQ lifl%! B #H£

HE HEEL BE HER HE L

% 1 8 5 3 0 0 0 0 0
+ =F 19 50 22 28 0 0 0 0 0
K B 1,245] 3,523| 11,7511 1,772 7 4 -1 1 4
s B 26 92 46 46 0 0 0 0 0
i 103 214 119 95 0 -2 -1 0 -1
FHEE 42 91 44 47 2 5 5 0 0
% @& 238 661 322 339 0 4 3 0 1
HEIEF 3,119 8,599 | 4,206 4,393 0 -10 3 7 -20
FER 800 | 2,307| 1,161 1,146 13 42 30 4 8
£R [ [ 1,749 | 5,041] 2,536| 2,505 -2 -1 -2 -1 2
HZA 796! 2,338 | 1,148| 1,190 3 1 -4 -3 8
T H 200 634 316 318 -3 -2 -2 1 -1
) 448 | 1,346 673 673 2 4 1 0 3
5 E 654 | 1,914 969 945 3 6 3 0 3
F )l 390 | 1,308 642 666 4 10 10 0 0
/& 5911 1,946 9371 1,009 1 5 5 1 -1
BEKSTH 278 887 446 441 0 -3 -5 1 1
N ER 496 | 1,626 778 848 5 6 4 0 2
ERHT 147 411 210 201 0 2 2 0 0
A B 4,363 | 12,537 | 6,233| 6,304 4 14 -4 7 11
R_B 1,368 | 3,948 1,876| 2,072 9 4 7 -2 -1
BRE 173 446 214 232 1 -2 0 0 -2
B 502 | 1,593 777 816 -3 -9 -11 0 2
AEH 376 | 1,227 493 734 -4 -12 -7 -2 -3
Kz R 17 79 43 36 0 0 0 0 0]
BI—TH 184 505 236 269 5 4 0 -1 5
BIIZTH 273 671 307 364 -1 -3 0 0 -3
BI=TH 449 1,135 571 564 -1 -4 0 0 -4
2 i 5211 1,717 775 942 -2 -9 -3 -4 -2
BJI[5t 1,427 | 4,028 | 1,889 2 139 1 -12 -3 -5 -4
T & 594 | 1,626 886 740 2 11 9 2 0
v H 1,572 | 4,478 2,293| 2, 185 8 11 5 3 3
x_1E 6971 2,007 | 1,005| 1,002 -2 3 2 6 -5
e = 2,129| 5,988 3,007| 2 981 10 2 -5 0 7
+HEE 167 465 249 216 5 10 5 0 5
i H 48 147 76 71 -1 -2 -1 0 -1
THH 97 263 132 131 -1 -4 -4 0 0
HEE—TH 338 969 491 478 1 6 2 0 4
HEE_TH 918 | 2,394| 1,237| 1,157 -2 -6 6 0 -12
EIEE=-TH 6591 1,908 986 922 -2 -5 -3 1 -3
mEE s 1,915 5,271 2,714| 2,557 -3 -5 5 1 -11
8 H 1,740 5,278 | 2,616| 2, 662 0 12 14 1 -3
&1 2,823| 8,385| 4,131| 4,254 -3 -21 -19 6 -8
R R 1,550 | 4,656 | 2,379| 2,277 8 8 6 3 -1
B H 1,256 | 3,504 | 1,917| 1,587 3 7 6 3 -2
& 3731 1,203 606 597 0 -3 -5 1 1
Bl 3R 204 661 346 315 0 -2 -1 0 -1
=5 H 620 | 1,881 974 907 6 10 3 0 7
F & 1,002 | 3,437 1,705| 1,732 1 0 -8 3 5
X 5 353 1,099 542 557 -1 -3 -1 -1 -1




WEBITES (FAREH12H 26 H 5577)

X 4 HEE | R % 3 g L3 AQ G2 B =
iR BRI BE =15 HE
HAK 37 139 73 66 0 0 0 0 0
(i, 169 588 277 311 -1 -1 -1 1 -1
EOE 137 444 227 217 0 0 0 0 0
ERE 3171 1,079 536 543 3 8 6 0 2
HEAE 226 866 416 450 1 0 1 -1 0
=t %0500 233 870 419 451 1 1 1 0 0
EE®E | 174 950 475 475 -1 -1 0 -1 0
SE LN 119 367 169 198 -1 -4 0 -2 -2
EE—TH 120 342 172 |- 170 0 0 0 0 0
EfE_TH 271 783 383 400 0 -3 2 1 -6
EfFE=TH 226 627 305 322 1 -1 0 -1 0
EEMNTH 158 533 257 276 1 1 3 0 -2
EfFEALTH 190 566 278 288 0 0 0 0 0
EATEE 1,981 ] 5,847 2,942| 2 905 1 -14 -3 -1 -10
ERFEE 2,946 | 8,698 | 4,337] 4,361 3 -17 2 -1 -18
H B 944| 3,130| 1,602] 1,598 -1 -4 7 0 )
EE—TEH 733] 2,062 1,024| 1,038 5 3 4 0 -1
BEE_TH 984 | 2,847 1,462 1,385 5 20 3 -2 19
BEY=TH 379 1,078 540 538 -1 0 0 0 0
BEBEANTH 437 1,332 644 688 1 4 1 0 3
BHUAETH 434 1,267 637 630 -4 -2 -8 2 4
BEEYASTH 303 927 492 435 -1 1 1 2 -2
BEHETH 81 165 107 58 0 3 1 1 1
H 8 242 704 362 342 0 -4 -4 0 0
BEEE 3,593 | 10,3821 5,268| 5,114 5 25 -2 3 24
BEEY—TH 294 716 362 354 -1 -2 -1 0 -1
[ = 197 612 295 317 0 -1 -4 1 2
HEE=TH 225 640 307 333 0 4 2 2 0
AiE e 5t 716 | 1,968 964 | 1,004 -1 1 -3 3 1
N\BE—TH 374 1,044 541 503 1 -2 1 -1 -2
/NNIE_TH 599 | 1,802 871 931 0 -3 -5 2 0
/NAE=TH 398 | 1,103 535 568 2 -1 -1 0 [
/ABEUT B 213 575 293 282 4 7 6 0 1 )
AN\ 35 108 50 58 0 0 0 0 0
N EET 1,619 4,632 2,290! 2 342 7 1 1 1 -1
A 1B 82 337 162 175 0 -2 0 -1 -1
Kk # 126 488 233 255 0 -3 0 0 -3
RAFII 233 808 379 429 1 0 -1 0 1
L2 i 134 527 260 267 0 -1 0 -1 0
ial=2E54 197 847 406 441 0 0 0 0 0
FTRH#E | 206 772 391 381 1 0 -1 -1 2
B 3611 1,034 506 528 -2 -2 -1 1 -2
EHZKR 44 189 94 95 0 0 0 0 0
gl 1,083 | 3,456 1,767| 1,689 3 10 0 -1 11
FiRE 174 587 287 300 -1 -6 -3 1 -4
FHE 960 | 3,152 1,578 | 1,574 2 7 5 3 -1
£ &y 68 264 131 133 0 0 0 -1 1
s 192 766 384 382 1 - =3 0 -2 -1
] 30 127 54 73 0 0 0 0 0
RN 75 377 195 182 -1 -1 -1 0 0
N 9951 3,480 1,729] 1,751 0 -4 1 0 -5

* RPD 01X, FYKEEL2LERLES,



BEFBTEY (CRRSHE128 26 8 17)

1 A0-#%5¥8 FEH8E181BRE (§18 & DHEER)

A n 200,096 A 62 A
& 99,157 A 21 A
% 100,939 A 41 A

A 68, 031 i 14 HHEH

glnll

2 KFT - XFBIAD - HEM LG 1 A B DERA
(CERK 841 A 1 HEE)

X 4 HHE | R % 7 e & An litl2! B e
: R HE % R HE
& F 68, 031 {200, 096 | 99, 157 {100, 939 -14 -62 0 33 -95
A FF 30,709 | 86,787 | 42,524 | 44,263 3 -30 10 -1 -39
X E 2,584 1 7,646 | 3,577| 4,069 2 6 -4 -2 12
B o) 1,424 | 4,013| 1,882 2,131 -3 -15 -5 -3 -7
THRE 7,463 | 20,969 | 10,741 10,228 0 15 24 14 -23
B3 4,554 | 13,653 | 6,742 6,911 -9 ~10 -1 3 -12
& JI 3,181} 9,373 | 4,907 | 4,466 2 10 -5 3 12
EAFe 2,528 | 8,280 | 4,158| 4,122 6 31 19 4 8
TEH 1,072 4,134 2,017 2,117 3 2 1 -2 3
EfFE 4,140 | 12,387 6,270 6,117 -14 -34 -16 6 -24
B 4 5,623 | 16,089 | 8,065 8,024 -1 -23 -19 7 -11
KB 574 | 2,158| 1,032| 1,126 -1 -2 2 -4 0
g 809 | 2,835] 1,391 1,444 1 -7 -4 3 -6
o 3,370 11,772 5,851 5,921 -3 -5 -2 5 -8
3 128%n A0k
X 4 i - z
MmO -62 -21 -41 */NERETOAD EHHIE, M) BEHEERG
H &8 33 13 20 ESEEBAEBLTOETH, BEIL. SEDLICH
oA 152 71 81 LhLEZWEOAD - HH#ERTERL LTEREEX
FE 119 58 61 BIRIE. SMEABRKERVFHEEOEDIZL BEA,
& R - =95 -34 61 I, HAE ECOAMOBHEYEAMRT 5 FiE
7= A 456 236 220 KEOEBLTHET,
B4 194 109 85 IO, ESRHEEREN10A 1 BBEENDAD
BAH 5 259 125 134 T, EEARL, 72, ThSIO 1 BREOAD %,
T Ot 3 2 Ll #stAnEATOET,
= W 551 270 281
Bst~ 250 129 121
B~ 300 141 159
Z Dt 1 0 1




BB ATE % (RRS4E12 26 A 377)

5 BITFHAD - LK ‘ , ' (CER 84 1 A 1 HEIF)
X 4 HER | # K 5 © ug A bl B #HE
: HE R 25 R R
& 5t 68,031 {200,096 | 99, 157 100, 939 -14 -62 0 33 -95
KET—TH 258 825 355 470 1 4 2 -1 3
XEI_TH 343 899 435 464 3 2 0 -1 3
KET=TH 455 | 1,120 553 567 -3 -3 -2 0 -1
KETUTE 365 1,036 487 549 -3 -6 -3 -1 -2
SEHT & 1,421| 3,880 1,830 2,050 -2 -3 -3 -3 3
FE—TH 547 | 1,426 689 737 2 2 0 2 0
FE_-TH 394 | 1,125 541 584 1 0 -3 -2 5
FEZTH 307 868 436 432 0 5 0 1 4
FET 3 1,248 | 3,419 1,666] 1,753 3 7 -3 1 9
EM—TH 429 | 1,086 486 600 -2 -2 0 0 -2
ERT_TH 407 | 1,100 541 559 0 1 0 1 0
EFT=TH 453 | 1,213 564 649 -6 -12 -3 -2 -7
EETUTH 430 1,389 664 725 2 1 1 0 0
IEET 5 1,719| 4,788| 2,255| 2 533 -6 -12 -2 -1 -
AE—TH 197 524 222 302 1 2 0 0 2]
AT _TH 263 734 317 417 -2 -7 -6 -1 0
AET=TH 346 | 1,016 451 565 0 -1 0 0 -1
AETMNTH 352 977 466 511 0 1 2 1 -2
AHT 3 1,158 | 3,251 | 1,456| 1,795 -1 -5 -4 0 -1
BN 28 76 40 36 -1 -2 -2 0 0
EI—T8 217 631 310 321 -2 -14 -13 0 -1
EET_TH 213 565 253 312 1 1 3 -1 -1
MIT=TH 331 976 460 516 2 3 1 0 2
HEETNTHE 283 697 327 370 1 3 2 -1 2
LI 1,044 2,869! 1,350| 1,519 2 -7 -7 -2 2
FIT—TH 272 774 371 403 1 0 1 0 -1
FM_TH 153 409 202 207 2 2 1 0 1
HFHI=TH 441 | 1,147 613 534 -1 -8 -4 0 -4
HFHUTH 313| 1,019 503 516 0 7 8 1 -2
FETHETH 4731 1,135 587 548 -8 -13 -11 0 —o-
ERTEH 1,652 | 4,484 | 2,276 2,208 -6 12 -5 ] -
®ET—TH 7731 2,223 1,0731 1,150 2 -4 -1 0 -3
AT _TH 196 582 261 321 -1 0 1 0 -1
HET=TH 479 | 1,346 663 683 1 10 6 3 1
RETUTH 207 611 297 314 1 2 1 0 1
HETETH 288 728 345 383 2 5 2 -1 4
AT S 1,943| 5,490 2,639 2,851 5 13 9 2 2
BL—TH| ~ 669 1,814 899 [ 915 2 2 0 1
WILU_TH 516 | 1,396 650 746 -1 -1 -8 -1 8
WIL=TH 5471 1,471 733 738 -1 5 8 -2 -1
BRI TH 191 541 245 296 1 3 1 0 2
RILET 1,923 5,222 2,527| 2,695 1 10 3 -3 10
BY—TH 1,082 | 2,878 1,474 1,404 1 15 2 4 9
BEI_TH 657 | 1,830 887 943 2 4 4 -1 1
BE=TEH 564 | 1,513 780 733 1 -5 -3 0 -2
BEFTUTE 109 2171 121 96 -2 -2 0 0 -2
BYEZTH 594 1,714 844 870 0 2 2 2 -2
BEATEH 2 3 2 1 0 0 0 0 0
EHTEF 3,008| 8,155]| 4,108| 4,047 2 14 5 5 4
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BEFITIER (ERs4E128 26 H 17)

3
iy

X 4 HEH R % 5 © R AQ B &
R R BE HE L HE R

% 1 8 5 3 0 0 0 0 0
+ = 19 50 22 28 0 0 0 0 0
Kk B 1,251 ] 3,5311 1,758| 1,773 6 8 3 0 5
7R -3 26 92 46 46 0 0 0 0 0
i 102 213 119 94 -1 -1 0 0 -1
FH A H 42 91 43 48 0 0 1 0 -1
% @ 237 664 326 338 -1 3 1 1 1
EEF 3,120 8,590 4,200] 4,390 1 -9 0 0 -9
R 804| 2,3121 1,168| 1,144 4 5 2 -1 4
ER 1 ] 1,756 | 5,058| 2,536| 2 522 7 17 5 -2 14
Bz 797 2,3311 1,145] 1,186 1 -7 -6 -1 0
eS| 199 635 317 318 -1 1 4 0 -3
= 449 | 1,348 673 675 1 2 1 0 1
B 655 | 1,917 969 948 1 3 2 -1 2
mF I 390 1,308 642 666 0 0 2 0 -2
/& 587 | 1,941 9351 1,006 -4 -5 -1 -3 -1
EKFTH 277 883 444 439 -1 -4 -3 2 -3
X ER 495 | 1,622 776 846 -1 -4 1 -5 0
TERHTH 147 412 210 202 0 1 0 0 1
A B 4,358 | 12,495| 6,210| 6,285 -5 -42 6 9 =57
R B 1,370 | 3,943! 1,876| 2,067 2 -5 -2 =2 -1
FRAE 171 445 214 231 -2 -1 0 0 -1
B & 499 | 1,593 778 815 -3 0 2 3 -5
ALH 380 | 1,238 499 739 4 11 -3 -3 17
KZE 17 79 43 36 0 0 0 0 0
2)I—TH 183 500 233 267 -1 -5 -6 0 1
BIIZ-TH 274 667 305 362 1 -4 -2 0 -2
BI=T8 448 | 1,133 572 561 -1 -2 -3 1 0
2 I 519 1,713 772 941 -2 -4 6 -4 -6
8113 1,424 4,013| 1,882| 2, 131 -3 -15 -5 -3 -7
T & 591 | 1,618 879 739 =3 -8 -6 2 -4
F B 1,568 | 4,473| 2,296| 2,177 -4 -5 -1 5 -9
x {E 696 | 2,012] 1,011 ] 1,001 -1 5 4 2 -1
=Y 2,130 5,996 3,013 2,983 1 8 -1 4 5
L&A 165 459 246 213 -2 -6 -5 1 -2
Sk silse 48 146 76 70 0 -1 -1 0 0
THH 98 266 133 133 1 3 3 0 0
HEE—TH 341 968 490 478 3 -1 4 -2 -3
mIEE _TH 919 | 2,400 1,241] 1,159 1 6 10 4 -8
HYEE=TH 660 | 1,914 987 927 1 6 8 -2 0
EIsEat 1,920 5,282| 2, 718| 2 564 5 11 22 0 -11
g2 I 1,744 | 5,297 | 2,626! 2 671 4 19 13 0 6
Bl 2,810 8,356 4,116 4,240 -13 -29 -14 3 -18
iR R 1,553 | 4,663 ] 2,384| 2 279 3 7 4 0 3
XM 1,255] 3,507 | 1,918] 1,589 -1 3 -10 4 9
Z E 3731 1,203 605 598 0 0 1 -1 0
B 204 664 347 317 0 3 2 1 0
=_H 625 ] 1,901 985 916 5 20 6 1 13
F K 1,001 | 3,442 | 1,705] 1,737 -1 5 6 3 -4
X 5 3551 1,106 546 560 2 7 5 0 2




BEEMTTER (84124 26 H 3847)

X 4 HER | & & % % i Ad il EE7S s
R YR BE B HER
BERXK 37 139 73 66 0] 0 0 0 0
BERK 168 584 275 309 -1 -4 0 -1 -3
Z F 138 444 227 217 1 0 0 0 0
B 320 1,081 537 544 3 2 4 -1 -1
EERAE 227 866 417 449 1 0 -2 0 2
B BFT 232 869 418 451 -1 -1 -2 0 1
e 171 945 473 472 -3 -5 -2 -1 -2
EEHE 122 373 172 201 3 6 3 0 3
EFE—THE 120 340 171 169 0 -2 -2 0 0
ERE_TH 270 778 382 396 -1 -5 —4 0 -1
EMNE=TH 226 627 304 | . 323 0 0 1 0 -1
EFENT B 158 529 256 273 0 -4 0 0 -4
EFELTE 190 567 277 290 0 1 -1 1 1
ERFE 1,967 ] 5,816 2,926 2,890 -14 -31 -15 4 -20
EFFER 2,931 8,657| 4,316 4,341 -15 4] -21 5 -25 1
A & 945| 3,137| 1,601| 1,536 1 7 6 1 d )
BE—TH 734 2,064| 1,025! 1,039 1 2 0 2 0
BEEY_TH 987 2,853 | 1,463! 1,390 3 6 9 -2 -1
BEA=TH 379 1,074 538 536 0 -4 -5 0 1
BEEWNTH 435 1,325 640 685 -2 -7 -3 0 -4
BEEHTE 432 1,265 636 629 -2 -2 -2 3 -3
BEENTE 302 920 489 431 -1 -7 -9 1 1
BEEYtTH 81 167 107 60 0 2 0 2 0
B G 245 712 366 346 3 8. 9 0 -1
BEF 3,595 | 10,380 | 5,264| 5,116 2 -2 -1 6 -7
BEG—T8 293 716 362 354 -1 0 0 2 -2
BEE_TH 199 613 297 316 2 1 -4 0] 5
FEEE=TH 222 636 307 329 -3 -4 1 0 -5
B e E 714| 1,965 966 999 -2 -3 -3 2 -2
DNAE—TH 375] 1,038 537 501 1 -6 -3 1 -4
NA\EZTH 600 | 1,800 869 931 1 -2 -1 -1 0
N\E=TH 399 | 1,103 534 569 1 0 0 -1 1)
/N\IENT B 212 573 291 - 282 -1 -2 -2 0 0y
AN 36 109 50 59 1 1 0 0 1
I E 1,622 4,623| 2,281 2,342 3 -9 -6 -1 -2
" B 81 338 160 178 -1 1 4 -2 -1
Kt 126 486 233 253 0 -2 0 -2 0
AT 233 807 379 428 0 -1 -2 0 1
L2 134 527 260 267 0 0 0 0 0
LB 198 846 405 441 1 -1 0 0 -1
TX#H 206 771 388 383 0 -1 -1 2 -2
E_H 361 | 1,029 504 525 0 -5 -3 1 -3
EH KR 44 189 94 95 0 0 0 0 0
B I 1,081 3,449| 1,763| 1,686 -2 -7 -1 1 -7
PRE 172 583 286 297 -2 -4 -3 -1 0
Eatul 961 | 3,152| 1,579| 1,573 1 0 2 0 -2
L+ ®r 68 263 131 132 0 -1 0 0 -1
N s 193 772 387 385 1 6 0 2 4
i 78 30 127 54 73 0 0 0 0 0
B K 75 377 195 182 0 0 0 0 0
N 993| 3,480 1,732| 1,748 -2 0 -1 3 -2
* BHO 0 ik, HEBEARLETRLET,



BEHRTEY (FRSE127 268 %17

1 AD-#5% THsE2510BE (B8 E0LESH)

~

A B 200,040 A 56 AMK
5 99,107 A 50 A
= 100,933 A 6 A

g2 g 68,036 fi&F 5 g

2 XFF-XHRAAD

- HERER 1 AR OEREAR

(Er 842 A 1 BEE)

X 4 HEH | B K 5 2o HH AR bl B e
HE R 2gh R R
& F 68, 036 {200, 040 | 99, 107 | 100, 933 5 -56 0 20 -76
X T 30,685 | 86,756 | 42,487 | 44,269 -24 -31 3 9 -43
X =& 2,582 | 7,639| 3,573 4,066 -2 -7 -1 -8 2
B i 1,427 4,012 1,882 2,130 3 -1 2 0 -3
TAFH 7,482 | 21,001 10,759 | 10, 242 19 32 13 2] 17
® o 4,545 | 13,619 | 6,722 6,897 -9 -34 -8 9 -35
g ) 3,182 | 9,368 4,907 4,461 1 -5 -7 2 0
EAFe 2,528 | 8,285| 4,159 4,126 0 5/ 0 2 3
TEH 1,083 | 4,153 2,028| 2,125 11 19 20 -2 1
ERFE 4,135 12,364 | 6,263 | 6,101 -5 -23 -24 1 0
B B 5,624 | 16,065| 8,052 | 8,013 1 -24 -8 6 -22
Al | 5731 2,161 | 1,032 1,129 -1 3 0 2
g X 816 | 2,842 1,392 1,450 7 7 13 -2 -4
¥ 3,374 | 11,775| 5,851 5,924 '3 -3 0 6
3 1B AOENEE
X 4 5t 5 =
wo% -56 -50 -6 */PNEETOAD &I, BRI REHEERGIC
B R HEHE 20 8 12 ESEBEAEMLTOWETA, BEE. 5ELICH
H A& 150 77 73 DAUIEZHEOAD - HEHLER L LCEREX
¥ ¢ 130 69 61 BRE, SAEABREERVCFEEOEDIZL AEA,
e ¥ -76 -58 -18 T, HE, BECOAROBEEYEAMET 3 5k
&= A 445 221 224 CEOERLTHET,
B4 165 84 81 I, ERREERFEN10H 1 BEEDOAD
BN 276 134 142 Z.EEADL, £-, FRUSO 1 BEEOADE.
T O 4 3 1 HEEAD LA THET,
T 521 279 242
Boh~ 211 110 101
BAA~ 307 166 141
Z Dfh 3 3 0




| BOEENTE® (RHSE127 26 H RAT)

5 EITFAMAD - HEH (Fsk 842 A 1 BB
X 4 HEH | B %K 5 = & AQ TN B s
YR R b)) R HE
& Et 68, 036 | 200, 040 | 99, 107 {100, 933 5 -56 0 20 -76
KE—TH 259 826 359 467 1 1] 2 0 -1
KT _TH 337 892 430 462 -6 -7 -5 1 -3
KIT=THE 454 | 1,117 553 564 -1 -3 -2 0 -1
KETWUTH 366 1,033 484 549 1| 3] -1 -2 0
SKHTEE 1,416 3,868 | 1,826 2,042 -5 -12 -6 -1 -5
FE~TH 545 | 1,424 685 739 -2 -2 2 0 -4
FEI_TH 391 ] 1,121 538 583 -3 -4 -3 -2 1
FET=TH 307 863 431 432 0 -5 -1 1 -5
ETE 1,243 3,408 | 1,654| 1,754 -5 -11 -2 -1 -8
B —TH 4311 1,090 489 601 2 4 2 0 2
ERT_TH 407 | 1,100 540 560 0 0 -1 0| - 1
EAT=TH 450 | 1,206 563 643 -3 -7 0 0 -7
{ZETIUT B 430 | 1,388 662 726 | 0 -1 4 1 -6 |
IRAT 5 1,718] 4,784 2,254 2,530 -1 -4 5 1 -1( )
AE—TH 196 518 220 298 -1 -6 -4 -1 -1]
AET_TH 260 731 315 416 -3 -3 -1 -1 -1
AET=TH 347| 1,018 455 563 1 2 4 -2 0
ABIOTH 352 978 466 512 0 1 4 -2 -1
AHT 5+ 1,155| 3,245 1,456| 1,789 -3 -6 3 -6 -3
" AN 28 76 40 36 0 0 0 0 0
Bmi—TH 217 631 | 310 321 0 0 0 0 0
BE_TH 211 559 249 310 -2 -6 -7 1 0
ME=TH 331 972 459 | 513 0 -4 1 -1 -4
HETET 286 708 331 377 3 11 9 1 1
RN 5§ 1,045] 2,870 1,349| 1,521 1 1 3 1 -3
HFE—TH 272 775 371 404 0 1 0 1 0
FO_TH 154 409 203 206 1 0 1 0 -1
FH=TH 440 1,148] . 612 536 -1 1 4 2 -5
FETINTH 312| 1,016 501 515 -1 -3 -7 0 4
HEWTRTH 474 | 1,136 588 548 1 1 2 1 -0
EHTE 1,652 | 4,484 | 2,275] 2, 209 0 0 0 4 )
B —TH 776 | 2,224 1,073| 1,151 3 1 3 0 -2
RO _TH 197 584 262 322 1 2 1 0 1
RET=TH 481 1,351 664 687 2 5 5 -1 1
RETUTH 206 610 296 314 -1 -1 -1 0 0
EHTHRTHE 284 723 345 378 -4 -5 -1 0 -4
HATE 1,944 | 5,492| 2,640] 2 852 1 2 7 -1 -4
BIL—TH 672 1,816 899 917 3 2 1 -3 4
BWL_TH 518 1,402 656 746 2 6 0 3 3
BWILU=TH 547 1,464 726 738 0 -7 -2 2 -7
®RUNTH 192 539 244 295 1 -2 -1 -1 0
gt 1,929 5,221 | 2,525 2 696 6 -1 -2 1 0
BEf—TH 1,087 2,892 1,480| 1,412 5 14 4 1 9
BT _TH 649 | 1,804 8721 932 -8 -26 -11 -1 -14
BIT=TH 560 | 1,503 779 724 -4 -10 -4 1 -7
EfIUTH 111 222 123 99 2 5 5 0 0
BYETH 589 | 1,712 842 870 -5 -2 -1 3 -4
BEfATH 21 3 2 1 0 0 0 0
ELIE 2,998 | 8,136 | 4,098] 4,038 -10 -19 -7 4 -16




PeEIATEY, (FARB84E12H 26 B RB1T)

X 4 HHE R % % = i Ad il B 4
HE R b 25 T R

& 1 8 5 3 0 0 0 0 0
+ = 19 50 22 28 0 0 0 0 0
K = 1,239 3,509 1,743| 1,766 =12 -22 -17 3 -8
& E 26 92 46 46 0 0 0 0 0
i 100 211 118 93 -2 -2 0 -2 0
F 42 91 43 48 0 0 0 0 0
% W 236 657 325 332 -1 -7 0 0 -7
HEEF 3,122 | 8,589 | 4,201| 4,388 2 -1 0 1 -2
HEHR 802! 2,313 1,166 1,147 -2 1 -1 0 2
AR F ] 1,753 | 5,053 | 2,536| 2 517 -3 -5 0 3 -8
B2 791 2,315| 1,137| 1,178 -6 -16 -10 0 -6
BT H 200 639 318 321 1 4 1 1 2
= 450 | 1,357 677 680 1 9 6 0 3
5 B 636 | 1,919 970 949 1 2 0 0 2
i 3911 1,315 642 673 1 7 0 -1 8
/& 587 | 1,941 933 | 1,008 0 0 -1 0 1
Bk BT H 280 884 445 439 3 1 4 0 -3
7 Hp 500 | 1,633 779 854 5 11 2 1 8
J ER T A 146 410 208 202 -1 -2 -5 0 3
A B 4,362 | 12,534 | 6,223| 6,311 4 39 21 2 16
R & 1,370 | 3,937 | 1,873| 2 064 0 -6 0 -5 -1
R AR 169 445 213 232 -2 0 0 0 0
A 498 | 1,591 779 812 -1 -2 -2 0 0
AEH 382 | 1,239 498 741 2 1. 3 -4 2
KZE 17 79 43 36 0 0 0 0 0
BI—TH 182 498 231 267 -1 -2 0 0 -2
BIIZTH 274 670 307 363 0 3 3 2 -2
BIN=TH 446 | 1,125 570 555 -2 -8 -3 0 -5
2 525 | 1,719 774 945 6 6 2 -2 6
B)IEE 1,427 4,012 1,882 2,130 3 -1 2 0 -3
T 4 590 | 1,619 879 740 -1 1 -3 1 3
t 2 1,572 4,491 2,309| 2 182 4 18 12 1 5
* & 696 | 2,011 1,010! 1,001 0 -1 =31 1 1
=Y 2,135] 5,999 | 3,012| 2 987 5 3 1 0 2
LE¥H 168 463 248 215 3 4 2 0 2
b Silss 49 147 77 70 1 1 3 -2 0
THH 101 273 138 135 3 7 6 0 1
HEE—TH 344 970 489 481 3 2 1 2 -1
MIEE _TH 921 | 2,404 1,244| 1,160 2 4 1 -1 4
mEE=TH 658 | 1,908 984 924 -2 -6 -8 0 2
HISEEH 1,923 5,282| 2 717| 2,565 3 0 -6 1] 5
& I 1,740 | 5,281 | 2,617! 2,664 -4 -16 -1 3 -18
B 2,805| 8,338| 4,105| 4,233 -5 -18 -7 6 -17
fR R 1,554 | 4,671 | 2,387 2,284 1 8 -3 3 8
Bk H 1,254 | 3,491 1,912| 1,579 -1 -16 -7 -1 -8
2 = 374 1,206 608 598 1 3 3 0 0
B 203 664 347 317 -1 0 -1 2 -1
= H 626 | 1,906 986 920 1 5 -1 -1 7
T (€ 1,001 | 3,439 1,703] 1,736 0 -3 -1 1 -3
X & 354 | 1,105 545 560 -1 -1 0 0 -1




E.%ﬁ%zﬁ%? (SERR84E12H 26 B %8647)

X 4 | #H#EE&% & X 3 x ik Af hitl%) SRS #HE
R HERL %E HERL B
HRK 37 139 73 66 0 0 0 0 0
BEAK 167 583 275 308 -1 -1 -1 0 0
E B 140 449 230 219 2 5 4 0 1
SHE 320 | 1,080 537 543 0 -1 -1 -1 1
HEHRAE 229 871 421 450 2 5 4 0 1
SEBIFT 236 877 422 455 4 8 7 0 1
Bk 172 942 472 470 1 -3 1 -2 -2
SEE 126 383 176 207 4 10 9 1 0
ERfE—TH 120 340 171 169 0 0 0 0 0
E}ﬁ?:%:“r | 270 777 382 395 0 -1 0 1 -2
EE=TH 226 627 304 323 0 0 0 0 0
EfFENT 159 535 259 276 1 6 5 0 1
ENERLTE 190 566 277 289 0 -1 -1 0 0
EAFE 1,963 5,802 | 2,918| 2,884 -4 -14 -16 1 1
EfFEET 2,928 | 8,647 | 4,311 4,336 -3 -10 -12 2 0
B B | 943] 3,130] 1,600] 1,530 -2 -7 -4 0 -
BEE—TH 733| 2,063 | 1,026] 1,037 -1 -1 -3 3 -1
EEG_TH 985| 2,837 1,456 1,381 -2 -16 -6 1 -11
BEEA=ZTH 379 | 1,076 539 537 0 2 6 -2 -2
BHEYMNTHE 435 | 1,324 638 686 0 -1 3 1 -5
BEEAETA 4351 1,268 639 | - 629 3 3 4 0 -1
BEEATE 302 923 490 433 0 3 -1 3 1
BEEETH 81 167 107 60 0 0 0 0 0
#H A 246 711 366 345 1 -1 1 0 =2
B 3,596 | 10,369 | 5,261 | 5,108 1 -11 4 6 -21
mEEG—TH 291 712 360 352 -2 -4 -3 2 -3
FEiEE TR 197 598 290 308 -2 -15 -8 0 -7
EEG=TH 223 638 | 310 328 1 2 -1 2 1
BiEeE 7111 1,948 960 988 - -3 -17 -12 4 -9
N\E—TE 375] 1,036 535 501 0 -2 1 -3 0
/NAE_TH 599 | 1,797 864 | 933 -1 -3 -1 -1 -1
N\E=TH 402 | 1,108 535 573 3 5 0 0
/NABEID T B 215 577 294 283 3 4 2 0 2 )
N\ 36 108 50 58 0 -1 0 -1 0
MNBEE 1,627 4,626 | 2,278 2,348 5 3 2 -5 6
A % 81 338 160 178 0 0 0 0 0
K 126 487 233 254 0 1 0 0 1
BRI 232 808 378 430 -1 1 0 0 1
TZid 134 528 261 267 0 1 0 1 0
FEFH 197 843 402 | 441 -1 -3 -1 -1 -1
TKRH# 207 769 388 381 1 -2 -1 0 -1
Bt 3681 1,041 508 533 7 12 15 -1 -2
EH AR 44 189 94 95 0 0 0 0 0
i) 1,080 3,441| 1,760 1,681 -1 -8 -5 -3 0
PRE 170 575 282 293 -2 -8 -5 0 -3
PR 968 | 3,172 1,587| 1,585 7 20 -1 3 18
L | 68 263 131 132 0 0 0 0 0
AN/ 192 772 387 385 -1 0 0 1 -1
7 29 124 52 72 -1 -3 -3 0 0
B & 75 377 196 181 0 0 0 1 -1
N 994 | 3,476| 1,730! 1,746 1 -4 2 -2 -4

* REPOD 0 ik, BEKERLERLET,



N

WEERTEY (ER84E12H 26 H BT)

FR8E3 A1 ARE (FiB & DLLB1ER)

37 A

17 AH

20 A8

1 ADO - tHES

A B 200,077 A
= 99,124 A
= 100,953 A
HHE 68, 065 &

29

2 FIF-XFAMAD - HEHEF 1 DA OBENR

(FE 84 3 A 1 BEHAE)

X 4 HEH B K| B = HH A il S e
R HR b2 %) HE R R
& F 68, 065 | 200, 077 | 99, 124 100, 953 29 37 0 37 0
A Fr 30,693 | 86,792 | 42,486 | 44, 306 8 36 11 25 0
X # 2,582 7,627 3,567 | 4,060 0 -12 -7 -7 2
8 J 1,426 | 3,996 1,881 2,115 -1 -16 -8 0 -8
B 4,551 | 13,634 | 6,728 6,906 6 15 7 3 5
& Ji 3,175| 9,367 | 4,909 | 4,458 -7 -1 6 -9
LR 2,536 | 8,306| 4,168 4,138 8 21 7 4 10
TS 1,091 4,170 2,040 2,130 8 17 16 -3 4
R i# 573 | 2,153 1,029 1,124 0 -8 0 -1 -7
2 K 814 | 2,833| 1,389 1,444 -2 -9 -5 -3 -1
% 3,379 | 11,786 | 5,855| 5,931 5 11 2 1 8
vo=—x 17,245 | 49,413 | 25,072 | 24, 341 4 -17 -25 12 -4
3 2840 A0
X 4 t % z :

R~ 37 17 20 *PMEETOAD L HEIIZ, BE)IBEHEESMI
B R HE 37 20 17 ESEBAERLTWETA, AL, SEZLT
HOA 165 83 82 bNSEZBEDOAD - HEHLEBRL LTEREX
¥ T 128 63 65 BIRE, SAEABRRERVFEEOEDICLBEA,
o= 8 R 0 -3 3 IR, HE, BECOABOBER*BAMKT 2 HE

= A 569 287 282 KLV EBLTHET,
B4 236 117 119 OIS, BERERREEN10A 1 BERAENPAD
BN G 331 168 163 REEAODE, £ TS O 1 BREDAD %,
T Off 2 2 0]  #HAREFATHET,

T 569 290 279
Bot~ 261 142 119
BAA~ 300 142 158
Z DO 8 6 2




PBEEBETIEYR (CrR84E128 26 B F&517)

5 BETFAHAO- #HEHK (CEE 84 3 A 1 HE)

X 4 HEHE | B 5 = g A bl EEN #H&
R 1B B HEE BB
4 &t 68, 065 {200, 077 | 99, 124 1100, 953 29 37 0 37 0
XE—TH 258 826 358 468 -1 0 -1 1 0
RET_TEH 341 895 432 463 4 3 -2 0 5
RE=TH 452 | 1,111 551 560 -2 -6 -3 0 -3
KETUTH 366 | 1,033 483 550 0 0 0 -1 1
HKMTEF | 1,417 3,865] 1,824| 2,041 1 -3 -6 0 3
FE—TH 545 | 1,424 683 741 0 0 2 0 -2
FET_TH 393 | 1,126 539 587 2 5 2 1 2
FET=TE 304 858 428 430 -3 -5 -5 1 -1
HTE 1,242 3,408| 1,650 1,758 -1 0 -1 2 -1
EE—TH 434 | 1,092 489 603 3 2 0 -1 3
ERT_TH 409 | 1,111 544 567 2 11 4 1 6
EET=TH 453 | 1,211 568 643 3 5 7 -1 -1
EETNT B 430 | 1,383 660 723 0 -5 -3 0 -2
IRATE 1,726 | 4,797| 2,261| 2,536 8 13 8 -1 (.
A —TH 194 509 214 295 -2 -9 -4 -1 -4
AT _TH 261 734 317 417 1 3 9 -3 -3
AHT=TH 346 | 1,018 455 563 -1 0 -1 1 0
ARTUT H 348 975 464 511 -4 -3 -1 0 -2
AT 5L 1,149 3,236] 1,450| 1,786 -6 -9 3 -3 -9
BN 28 76 40 36 -0 0 0 0 0
ME—TH 216 631 309 322 -1 0 0 -1 1
M _TH 213 564 | . 250 314 2 5 6 -2 1
HEIT=TH 335 975 463 512 4 3 -4 0 7
EINTH 286 708 331 377 0 0 0 -1 1
AT At 1,050 | 2,878 1,353| 1,525 5 8 2 -4 10
HF—TH 273 774 370 404 1 -1 -2 -1 2
HFI_TEH 152 403 200 203 -2 -6 0 0 -6
HEE=TH 441 1,156 613 543 8 2 2 4
FOTOOTH | 3370 1,043 521 522 25 27 26 1 0
FRETH 451 ] 1,105 562 543 -23 -31 -21 0 -1f" )
FEHTE 1,654 | 4,481] 2,266] 2 215 9 -3 5 2 -10-
HET—T 8 7731 2,217 1,070 1,147 -3 -7 -4 0 -3
RETZTH 196 582 261 321 -1 -2 -4 1 1
HEI=TEH 479 | 1,344 660 684 -2 -7 -6 -1 0
HETUTH 206 610 296 314 0 0 -1 -1 2
lE= 284 723 346 377 0 0/ 0 0 0
EETEF | 1,938 5,476 2,633 | 2,843 -6 -16 -15 -1 0
®IU—TH __B671| 1,818 897 921 -1 2 -2 0 4
BWILZTH 520 | 1,403 656 747 2 1 3 3 -5
BIU=TH 551 | 1,467 729 738 4 3 -5 -1 9
RILUNTH 193 537 243 294 1 -2 0 0 -2
i AEs 1,935 5,225| 2,525| 2,700 6 4] -4 2 6
B —TH 1,077 2,879 | 1,474| 1,405 -10 -13 -3 1 -11
BE_TH 651 1,810 878 932 2 6 -1 -2
BET=TH 561 | 1,505 780 725 1 2 5 1 -4
BEITNUTHE 111 225 125 100 0 3] 2 0 1
B ETE 585 | 1,706 838 868 -4 -6 -4 1 -3
BEATE 2 3 2 1 0 0 0 0 0
LI 2,987 | 8,128 4,097 4,031 -11 -8 9 21 -19




N

BENITEY (CRs4E12H 26 B #17)

X 4 wE O R K 5 @ HH N =] il BA #HE
HER HE L 25 Y R
% 1 8 5 3 0 0 0 0 0
+ = 19 50 22 28 0 0 0 0 0
ik B 1,230 | 3,509 | 1,744| 1,765 -9 0 -5 5 0
5 B 26 92 46 46 0 0 0 0 0
i = 100 211 118 93 0 0 0 0 0
FAHH 41 90 42 48 -1 -1 0 0 -1
% i 248 687 343 344 12 30 12 -1 19
EEF 3,134 8,618| 4,212| 4,406 12 29 16 7 6
iR 807! 2,3341 1,170| 1,164 5 21 4 10 7
A% FH (] 1,749 5,044 | 2,530 2,514 -4 -9 3 0 -12
Bz 7921 2,305] 11,1321 1,173 1 -10 -10 -1 1
HETE 200 641 319 322 0 2 0 1 1
= 449 | 1,348 671 677 -1 -9 -6 1 -4
B 654 | - 1,915 971 944 ~2 -4 -3 -1 0
i 390 | 1,314 642 672 -1 -1 2 -1 -2
/& 5881 1,939 932 | 1,007 1 -2 3 2 -7
EAKFH 278 880 442 438 -2 -4 -4 1 -1
R 502 | 1,639 782 857 2 6 5 -1 2
JXER$T H 145 410 208 202 -1 0 0 0 0
A BF 4,360 | 12,536 | 6,223| 6,313 -2 2 -7 4 5
R B 1,365] 3,926| 1,864 2,062 -5 -11 -1 -1 -9
FARAE 168 440 212 228 -1 -5 -3 -2 0
B 499 | 1,587 777 810 1 -4 -7 -1 4
A4H 387 1,247 504 743 5 8 4 -3 7
KZE 17 79 43 36 0 0 0 0 0
B)I—T8H 182 497 231 266 0 -1 0 -1 0
BIZTH 277 674 308 366 3 4 7 0 -3
BI=TH 446 | 1,115 573 542 0 -10 -10 1 -1
2 521 | 1,710 769 941 -4 -9 -5 0 -4
s 1,426 | 3,996 | 1,881] 2,115 -1 -16 -8 0 -8
T & 592 | 1,628 882 746 2 9 2 0 7
b B 1,5771 4,496 2,3121 2, 184 5 5 -3 5 3
x _fE 6981 2,015] 1,014] 1,001 2 4 -3 1 6
=Y 2,130 5,987! 3,008| 2,979 -5 -12 -8 -3 -1
L¥rH 170 463 246 217 2 0 2 -1 -1
T H 50 148 78 70 1 1 | 0 0
T#HHR 101 273 138 135 0 0 1 -1 0
EIEE—TH 349 978 495 483 5 8 1 3 4
EEE_TH 9241 2,413| 1,246| 1,167 3 9 7 4 -2
EIEE=TH 657 | 1,905 985 920 -1 -3 -2 1 -2
e E 1,930 5,296 2,726| 2,570 7 14 6 8 0
=4 1,746 | 5,302 | 2,627 2,675 6 21 16 3 2
ol 2,805| 8,332 4,101| 4,231 0 -6 -9 0 3
R R 1,554 | 4,684| 2,394| 2 290 0 13 5 5 3
B H 1,248 | 3,478| 1,906 1,572 -6 -13 -1 0 -12
Z K 3731 1,205 609 596 -1 -1 -2 1 0
B 3 204 664 347 317 1 0 -1 0 1
=5 H 630 | 1,922 992 930 4 16 7 2 7
F & 1,005! 3,447 | 1,707 1,740 4 8 5 1 2
X I 3521 1,101 543 558 -2 -4 -4 0 0




WS EY (CEMSEL2H 26 H 34T)

X 4 HEH | B &K 5 @ g Al hila B "=
H HER B R R
EAK 37 139 73 66 0 0 0 0 0
BEAK 168 585 276 309 1 2 0 0 2
EE 140 448 230 218 0 -1 0 1 -2
EHE 320 | 1,078 536 542 0 -2 -2 -1 1
HHRAE 232 874 424 450 3 3 5 -1 -1
SEAIET 239 887 426 461 3 10 5 -1 6
SR 171 940 471 469 -1 -2 0 -1 -1
EEE 128 391 183 208 2 8 8 1 -1
EffE—TE 119 339 171 168 -1 -1 0 0 -1
EfFE_ZTH 268 775 381 394 -2 -2 0 -1 -1
ENE=TH 224 624 303 321 -2 -3 -4 2 -1
ERENT B 157 | 532 256 | 276 -2 -3 0 0 -3.
EfFERTH 187 561 275 286 -3 -5 -1 0 -4
EffE 1,960 | 5,775! 2,902| 2,873 -3 -27 -16 0 -11
EAfFEET 2,915| 8,606| 4,288 4,318 -13 -41 -21 1 ~2]
BB _945| 3,139] 1,605] 1,534 2 9 3 o] (
BEE—TH 736 2,070 1,030| 1,040 3 7 0 0 7
EEY_-TH 982 | 2,832| 1,454] 1,378 -3 -5 3 0 -8
EEY=TH 379 | 1,074 538 536 0 -2 0 -1 -1
BEEWT 8 4371 1,326 642 684 2 2 5 -1 -2
EYXRTH 433 | 1,261 636 625 -2 -7 -9 -1 3
BEEATEH 305 931 491 440 3 8 5 4 -1
BEEYETH 80 165 105 60 -1 -2 0 2 -4
E g 245 703 362 341 -1 -8 -7 -2 1
BHEE 3,597 | 10,362 | 5,258 5,104 1 -7 -3 -5
EEE—TH 288 710 359 351 -3 -2 -1 -2
BEG_TH 197 599 292 307 0 1 0 -1 2
EiEE =T B 221 636 310 326 -2 -2 -4 | 1
FEiEE & 706 | 1,945 961 984 -5 -3 -5 1 1
/N\E—T H 374| 1,035 535 500 -1 -1 0 -1 0
/NN\E_TH 603 | 1,804 867 9371 4 7 5 2 0
/B =TH 403 | 1,110 536 574 1 2| 0 -1 /‘)
/N \BEID T H 216 577 295 282 1 0 -1 0 oy
AN 37 112 52 60 1 4 3 0 1
AN\ BEET 1,633 | 4,638 2,285| 2,353 6 12 7 0 5
5 B 81 337 160 177 0 -1 0 -1 0
¥ 127 487 233 254 1 0 1 0 -1
AT 231 804 377 427 -1 -4 0 0 -4
T2 134 525 259 266 0 -3 -1 0 -2
FER 198 841 401 440 1 -2 -2 0 0
FTXA#E 207 768 388 380 0 -1 2 -2 -1
B 366 | 1,036 507 529 -2 -5 -4 -1 0
HE AR 44 188 93 95 0 -1 -1 0 0
A I 1,077 | 3,433| 1,757| 1,676 -3 -8 -6 4 -6
PRE 169 573 280 293 -1 -2 0 0 -2
AR 973 | 3,183 ] 1,592 | 1,591 5 11 -2 -1 14
L+ H 68 263 131 132 0 0 0 0 0
AN AR 193 774 389 385 1 2 3 0 -1
7 29 124 52 72 0 0 0 0 0
Ve IRAY 75 376 196 180 0 -1 0 -1 0
N 996 | 3,477 | '1,729| 1,748 2 1 3 -1 -1
* RPO 0 T, HEKELLEZRLET,



1 A0 - HEH
A B 199, 699
5 98, 869
% “100, 830
HH#% . 68,027

2 FF-XEAIAO

A

A

A

LR

- HEH ST 1 AP OEEAR

378 AB

255 AN

123 AB

38 HEHEE

WEBITER (FA8E12/ 26 A H1T)

FRi8E 481 BRE (R L DLEERIER)

(P84 4 A 1 ARE)

X 4 HEH | B & 5 = i A0 iil%) B #HE
R HE R % g R B
& F 68, 027 | 199, 699 | 98, 869 | 100, 830 -38 -378 0 44 -422
A FF 30,640 | 86,521 | 42,299 | 44,222 -53 -271 -2 2 -271
K #E 2,556 | 7,577| 3,545| 4,032 -26 -50 -9 -3 -38
B 1,420 | 3,995 1,879 2,116 -6 | -1 5 4 -10
B 4,544 | 13,562 | 6,694 | 6,868 -7 =72 -5 9 -76
2 3,170 | 9,325| 4,885 4,440 -5 -42 -29 -1 -12
EHFF 2,537 | 8,310 4,158]| 4,152 4 18 4 -18
TER 1,103 | 4,193 | 2,049 | 2,144 12 23 10 4 9
ko 576 | 2,143 | 1,024 1,119 3 -10 -6 -3 -1
g & 814 | 2,825| 1,383 1,442 -8 5 -2 -11
5 3,388 | 11,777 | 65,845| 5,932 9 -9 -8 -3 2
vp==T 17,279 | 49,471 | 25,108 | 24, 363 34 58 21 33 4
3 3AHDAOENEE
X 4 Eis % z
B -378 -255 -123 */MEETOADEHHIL, S REHHEELGNIC
B R #®E 44 25 19 ESZH\AERLTWETH, BEIZ. sEZLICH
HOA 164 87 77 ONSEZRENAD - HHFKLEBL LTEREAR
¥ 120 62 58 BRE. AEARFERVFEENDEDICLBZEA,
& ¥ OB 0 -422 -280 -142 T, HAE BECoAROBHEEEEAMEBT 3 5E
= A 1,171 587 584 ICEDEBMLTWET,
BNy 519 273 246 LDz, ERWEEREN10A 1 BRENAD
BN 640 307 333 . BEADE, £, TSSO 1 BEEDOAD %,
£ Ot 12 7 5| #MADLEATOET,
= M 1,593 867 726
Bak~ 865 479 386
B~ 689 356 333
Dt 39 32 7




Wi SE B AT 9 (T AR84F 121 26 B JBAT)

5 HITFHAO - HEH (FER84 4 A 1 AEE)
X 4% HHEE | B % 5 Z L A litla: B £
R R %5 R HE R
& Bt 68, 027 {199, 699 | 98, 869 | 100, 830 -38 -378 0 44 -422
K —TH 259 825 358 467 1 -1 7 0 -8
K _TH 343 900 435 465 2 5 8 -2 -1
KE=TH 456 | 1,115 555 560 - 4 4 6 0 -2
KETUTH 359 1,015 473 542 -7 -18 -11 1 -8
KB E 1,417 | 3,855| 1,821| 2,034 0 -10 10 -1 -19
FE—TH 543 | 1,411 672 739 -2 -13 0 0 -13 |
FE_TH 394 | 1,124 537 587 1 -2 -2 0 0
FE=TH 309 875 435 440 5 17 12 -1 6
HET 5 1,246 | 3,410| 1,644| 1,766 4 2 10 -1 -7
EBT—T 8 429 | 1,081 485 596 -5 -11 -5 -1 -5
AT T H 414 | 1,113 547 566 5 2 0 1 1
EMT=TH 452 | 1,210 567 643 -1 -1 0 1 -2
IEETIO T H 428 | 1,371 651 720 -2 -12 -1 -2 -9l
R 5t 1,723 | 4,775| 2,250 | 2,525 -3 -22 -6 -1 -1 )
AB—TH 195 507 215 292 1 -2 -3 1 0
AET_TH 263 730 315 415 2 -4 -2 -2 0
AET=TH 347 1,019 456 563 1 1 3 -2 0
AETUT B 349 978 466 512 1 3 2 -3 4
AT 5t 1,154 | 3,234| 1,452 1,782 5 -2 0 -6 4
® A 27 70 36 34 -1 - -6 0 0
FEE—TH 213 626 307 319 -3 -5 -3 -1 -1
BT _TH 212 562 251 311 -1 -2 7 0 -9
HET=TH 338 984 465 519 3 9 0 -2 11
AT H 284 705 329 376 -2 -3 -1 -1 -1
LS 1,047 | 2,877| 1,352| 1,525 -3 -1 3 -4 0
FH—TH 269 756 363 393 -4 -18 -15 -1 -2
HII_TH 1521 - 401 199 202 0 -2 -1 0 -1
HFOT=TH 440 1,151 606 545 -1 -5 8 -1 -12
FHETUTH 340 | 1,048 523 525 3 5 0 1 4
HFETHTH 469 | 1,112 561 551 18 7 -5 0 12(‘)
F0T 5t 1,670 1 4,468 | 2,252 | 2 216 16 -13 -13 -1 1y
HET—TH 772 2,205| 1,066 1,139 -1 -12 -5 0 -7
RET_TH 194 576 256 320 | -2 -6 -4 0 -2
RET=TH 469 | 1,321 647 674 ~10 -23 -3 -1 -19
FETIOT B 205 604 292 . 312 -1 -6 -5 -1 0
RETETH 279 721 346 375 -5 -2 5 1 -8
HOTE 1,919] 5,427| 2,607 2,820 -19 -49 -12 -1 -36
WIL—TH _661] 1,795| 883 912 -10 -23 -2 0 -21
WILUZ-TH 522 | 1,405 656 749 2 2 5 1 -4
WLU=TEH 557 | 1,478 737 741 6 11 -5 1 15
W TH 194 541 245 296 1 4 -2 0 6
W LET 1,934 5,219] 2,521 2 698 -1 -6 -4 2 -4
BET—TH 1,062 | 2,857 | 1,459 1,398 -15 -22 -2 3 -23
BIT_TH 654 | 1,818 883 935 3 8 10 1 -3
BFT=TH 557 | 1,484 771 713 -4 -21 -8 1 -14
EBRTINT H 109 227 125 102 -2 2 -3 0 -1
ELIENNE 579 | 1,684 826 858 -6 -22 0 1 -23
BRTATH 2 3 2 1 0 0 0 0 0
EAMT &t 2,963 8,073| 4,066 | 4,007 24 -55 3 6 -64




BERITIEY (CR84E12H 26 B 17)

K 5 | tEER [k %] B Z | ¥ | A0 | #R | B8R | =
R R %E R X

% 1 8 5 3 0 0 0 0 0
+ = 19 50 22 28 0 0 0 0 0
K B 1,219] 3,488 1,732] 1,756 -11 -21 -3 0 -18
R B 26 91 45 46 0 -1 0 -1 0
o 98 208 116 92 -2 -3 0 -3
FHHH 40 88 39 49 -1 -2 -1 1 -2
% 254 | . 700 348 352 6 13 8 0 5
HEIEF 3,138 | 8,602| 4,207 4,395 4 -16 28 3 -47
R 801] 2,311| 1,159| 1,152 -6 -23 -8 2 -17
AR FH [ 1,748 | 5,041 | 2,517 2,524 -1 -3 -6 -3 6
A 792 2,306| 1,130| 1,176 0 1 -1 1 1
BT 199 636 318 318 -1 -5 0 1 -6
) 450 | 1,344 666 678 1 -4 -2 4 -6
5 B 650 | 1,915 973 942 -4 0l -3 1 2
/o 393 | 1,324 647 677 3 10 18 -1 -7
/& 582 1,917 918 999 -6 -22 -5 -2 -15
EKETH 279 888 447 441 1 8 1 -2 9
B 499 | 1,626 777 849 -3 -13 -9 0 -4
JCER T H 145 404 205 199 0 -6 1 0 -7
A B 4,353 | 12,515| 6,195| 6,320 = -7 -21 -4 5 -22
R B 1,367 3,928 | 1,862| 2 066 2 2 4 -2 0
RS 167 437 210 227 -1 -3 0 0 -3
A& 470 | 1,539 760 779 -29 -48 -13 -1 -34
A4H 389 | 1,245 502 743 2 -2 -1 0 -1
K2R 17 79 43 36 0 0 0 0 0
B)I—=TH 179 497 228 269 -3 0 -3 2 1
BIIZTH 276 672 310 362 -1 -2 2 1 -5
BI=TH 444 | 1,109 569 540 -2 -6 0 2 -8
2 521 | 1,717 772 945 0 7 6 -1 2
s 1,420} 3,995] 1,879| 2,116 -6 -1 5 4 =10
T R 586 | 1,614 874 740 -6 -14 2 0 -16
t B 1,568 | 4,458 | 2,292| 2 166 -9 -38 -20 -1 -17
x £ 700 2,004 | 1,005 999 2 -11 -6 0 -5
B = 2,131 5,983| 3,006 2 977 1 -4 3 6 -13
i :ig:e! 170 463 246 217 0 0 -2 1 1
T EH 51 150 79 71 1 2 0 0 2
T H 99 267 137 130 -2 -6 1 0 -7
HEE—TH8 355 983 497 486 6 5 -8 0 13
HEE_TH 911 | 2,374 | 1,222 1,152 -13 -39 -36 -2 -1
FAIEE=TH 651 1,884 973 911 6| -21 -8 0 -13
EEE = B 1,917 5,241 2,692] 2,549 -13 -55 -52 -2 -1
g 1,741] 5,276 | 2,609| 2 667 -5 -26 -8 3 -21
B 2,803| 8,286| 4,085| 4,201 -2 -46 3 6 -55
iR R 1,548 | 4,657] 2,375| 2,282 -6 -27 -14 -1 -12
B H 1,253 ] 3,468| 1,902| 1,566 5 -10 -7 -1 -2
z = 369 | 1,200 608 592 -4 -5 -8 1 2
B 3 204 658 343 315 0 -6 2 -1 -7
& | 630 | 1,929 997 932 0 7 16 3 -12
A 1,012 3,464 1,706] 1,758 7 17 9 1 7
X 344 | 1,087 536 551 -8 -14 -5 0 -9




BB IE ¥ (T RLB4E12A 26 B JYT)

X 4 WO R K 3 = i N = hila! B #HE
R PR 25 HE R R
HAK 38 139 72 67 1 0 1 0 -1
BERK 169 586 276 310 1 1 -4 0 5
EE 140 447 228 219 0 -1 -1 1 -1
ERE 321 ] 1,084 538 546 1 6 0 1 5
SRAE 234 879 426 453 2 5 6 0 -1
EERBIRT 241 888 426 462 2 1 -1 0 2
= 175 944 474 470 4 4 2 0 2
M 131 398 185 213 3 7 3 3 1
EffE—TH 118 339 170 169 -1 0 -4 1 3
EfFE_TH 260 751 369 382 -8 -24 -22 0 -2
ERE=TH 223 617 300 317 -1 -7 -1 -2 -4
EHEFZENTH 155 523 251 272 -2 -9 -5 1 -5
EFERLTH 184 550 272 278 -3 -11 -6 0 -5
EfRFE 1,952 5,769 2,900 2, 869 -8 -6 -15 0 9
EiF st 2,892 8,549| 4,262| 4,287 -23 -57 -53 0 -4
H & 946 | 3,145| 1,609] 1,536 1 6 6 3 L
BE—TH 825| 2,322| 1,152! 1,170 89| 252 174 3 75
BEY_-TH 978 | 2,812 1,445| 1,367 -4 -20 -16 3 -7
BE=TH 375 ] 1,067 537 530 -4 -7 -8 1 0
BEUNTA 438 | 1,330 643 687 1 4 3 -2 3
BEEYELTHE 434 | 1,267 643 624 1 6 1 -1 6
BEEASTHE 303 933 491 442 -2 2 1 6 -5
BEEETH 78 160 103 57 -2 -5 -5 0 0
B g 245 704 365 339 0 1 -2 0 3
BHEE 3,676 | 10,595| 5,379| 5,216 79 233 148 10 75
EEE—TH 283 696 352 344 -5 -14 -15 3 -2
HEG_TH 205 629 310 319 8 30 18 4 8
BEEE=TH 219 622 304 318 -2 -14 -13 0 -1
B e 7071 1,947 966 981 1 2 -10 7 5
/NE—TH 370 | 1,020 527 493 -4 -15 -5 1 -11
WN\BE_TH 604 | 1,810 869 941 1 6 4 5 -3
/N\IE=TH 401 | 1,105 535 570 -2 | -5 -5 0 k
/NS T B 222 589 305 284 6 12 8 2 2
VAN 37 111 52 59 0 -1 0 0 -1
AN 1,634 | 4,635| 2,288 2, 347 1 -3 2 8 -13
£ 81 330 157 173 0 -7 -4 -1 -2
K i 128 486 231 255 1 -1 0 0 -1
HBAT)I 233 803 378 425 2 -1 -2 -1 2
Tz 134 524 258 266 0 -1 0 -1 0
FER 198 ‘837 398 439 0 -4 0 0 -4
TRH#F 208 770 390 380 1 2 4 -1 -1
L 366 | 1,031 503 528 0 -5 0 -1 -4
BH KR 43 187 92 95 -1 -1 1 0 -2
A JI 1,083] 3,433| 1,757 1,676 6 0 4 -1 -3
FRE 170 | . 572 280 292 1 -1 -2 -2 3
A 972 3,180 1,585] 1,595 -1 -3 -4 0 1
L+ ET 68 264 131 133 0 1 0 0. 1
AN # 193 771 387 384 0 -3 0 0 -3
i 7 29 124 52 72 0 0 0 0 0
B K 77 377 196 181 2 3 0 =2
N 998 | 3,476 1,730 1,746 2 - -7 1 5

* ¥HEOD 0 |,

FZEBER LERLET,

r



WeEWETEY (ER84E12H 268 8£15)

1 AO-#HH FH8E5H1BERE (F1H & DR

A A

&

T

2 KFF-XZEAADO

199,798 A
98,931 A
100, 867 A

68,232 1t

s

99 A8

62 At

37 A

205 fHEHS

- HEH ST DA DEEAR

(FRK 845 A 1 HEE)

X 4 HHE B % 5 Z L Ad il EEN #t4
R HER B HR YR

& 3 68, 232 199, 798 | 98, 931 {100, 867 205 99 0 36 63
X FF 30,729 | 86,524 | 42,301 | 44,223 89 3 -53 8 48
X & 2,575 17,593 3,558 4,035 19 16 -1 -1 18
B i 1,426 | 3,992 | 1,881 2,111 -3 3 -2 -4
B 4,550 | 13,556 | 6,689 | 6,867 -6 1 2 -9
g i 3,163 9,306 | 4,871| 4,435 -7 -19 -4 -21
A 2,538 | 8,306 | 4,158 4,148 1 -4 2 6 -12
TE#H 1,107 | 4,192 2,046 2,146 4 -1 0 -2 1
| 575| 2,142 1,023| 1,119 -1 -1 -4 2 1
g 812| 2,814 1,376 1,438 -2 -11 -4 0 -7

i 3,396 | 11,763 | 5,837| 5,926 8 -14 1 -5 -10
vo=x 17,361 | 49,610 | 25,191 | 24,419 82 139 59 22 58
3 484 AOFEE

X 4 i 5 =

'S 99 62 37 */AMEFEATOAD L 8g, #25) BE s E &6
B &8 R 36 13 23 ESEBAEBLTOVETA, AEIX. 5&7Li0F
H A 157 78 79 DROIESZHEOAD - HHH L EHBL LTERLE
¥ T 121 65 56 BIRE, AEABRRERVCFEEOEDICL ZEA,
ft & ¥ B 63 49 14 G, HE BECoOAMOBHEE BT 5 FiE
&= A 1, 006 552 454 LD ERLTVET,

BN G 564 319 245 O, EREEEREN10H 1 BEENAD

BN 428 224 204 T, EEADL, £72. TRLUS D 1 RBEOAD %,

TOf 14 9 S| HEHAQELATOET,

= o 943 503 440

B~ 452 255 197

B~ 488 245 243

ZDfth 3 3 0




EHMETEYE (ER8E12H 26 8 R47)

5 BEITFHAO - S (FEk 84 5 A 1 AHIE)
X & HER | B % 5 -y LK Ad il B #He
HR A %5 R HER
& &t 68, 232 |199, 798 | 98, 931 | 100, 867 205 99 0 36 63
KE—TH 279 847 359 488 20 22 0 0 22
K _TH 343 901 437 464 0 1 0 -2 3
XE=TH 457 | 1,107 552 555 1 -8 -2 -1 -5
KITMTH 364 | 1,023 478 545 5 8 0 0 8
KHTEE 1,443| 3,878| 1,826! 2,052 26 23 -2 -3 28
HE—~TH 549 | 1,413 675 738 6 2 5 0 -3
FEHT_TH 392| 1,116 534 582 -2 -8 -1 -1 -6
FET=TH 309 879 437 442 0 4 2 0 2
_ HETE 1,250 3,408 | 1,646] 1,762 4 -2 6 -1 -7
EEAT—TH 429 | 1,075 481 594 0 -6 0 0 -6
ERT_TH 412 1,104 545 559 -2 -9 -4 -1 -4
EIT=TH 452 | 1,206 565 641 0 -4 -1 -1 =2
ERTUT B 426 | 1,363 646 717 -2 -8 -4 0 —4 |
JERTEH 1,719] 4,748] 2,237 2 511 4 -27 -9 -2 )
AET—TH 194 506 213 293 -1 -1 -1 0 0
AT _TH 261 730 313 417 -2 0 0 -1 1
AH=TH 3451 1,019 457 562 -2 0 -2 -1 3
AETINT 8 351 979 466 513 2 1 1 0 0
AHT &t 1,151 3,234 1,449| 1,785 -3 0 -2 -2 4
%N 27 70 36 34 0 0 0 0 0
MEIT—TH 210 616 299 317 -3 -10 -8 0 -2
HMEZTE 210 559 249 310 -2 -3 -3 0 0
M =TH 344 995 473 522 6 11 1 -2 12
ELINE] 288 710 332 378 4 5 4 0 1
FEET 1,052 2,880| 1,353] 1,527 5 3 -6 -2 11
HFI—TH 271 760 364|396 2 4 6 -2 0
FA_TH 148 393 196 197 -4 -8 -6 -1 -1
HFE=TH 439] 1,152 607 545 -1 1 1 1 -1
FHOTH 346 | 1,058 526 532 6 10 5 0 5
FHHETH 465 | 1,105 558 547 -4 -7 -6 0 —:”“)
#HOTEH 1,669 | 4,468| 2,251| 2. 217 -1 0 0 -2 S
HIT—TH 769! 2,198| 1,065| 1,133 -3 -7 -6 2 -3
HIT_TH 192 562 250 312 -2 -14 -13 0 -1
HET=TEH 4711 1,326 653 673 2 5 4 0 1
RETNTH 204 599 289 310 -1 -5 -5 0 0
HEHETH 277 716 343 373 -2 -5 -1 0 -4
HETE 1,913] 5,401] 2,600| 2,801 -6 -26 -21 2 -7
BIL—TH - 667 1,793 880 913 6 -2 -1 -2 1
WIUL_ZTH 530 | 1,404 659 745 8 -1 -1 -3 3
BIL=TH 561 | 1,479 739 740 4 1 -2 0 3
WegTH 192 539 244 295 -2 -2 0 0 -2
Sl e 1,950 | 5,215] 2,522 2,693 16 -4 -4 -5 5
BE—TH 1,087 2,895| 1,482 1,413 25 38 15 3 20.
Bf_TH 651 | 1,809 882 927 -3 -9 -8 -1 0
BEIZTH 558 | 1,486 774 712 1 2 -4 | 2 4
BEIUTH 111 231 128 103 2 4 1 0 3
BEHRT H 582 | 1,686 827 859 3 2 -2 2 2
BEATEHE 2 3 2 1 0 0 0 0 0
E3HT 5t 2,991 8,110] 4,095| 4,015 28 37 2 6 |- 29
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BERSTEY (st 128 26 B £47)

X 4 HHEE | B K 5 = i AO il B #HE
R R B2 | #E R

& 1 8 5 3 0 0 0 0 0
+ = 19 50 22 28 0 0 0 0 0
) = 1,225| 3,485| 1,736 1,749 6 -3 -10 -3 10
5 E 26 90 44 46 0 -1 0 -1 0
Vi 97 202 114 88 -1 -6 -5 0 -1
HHIH 39 86 38 48 -1 -2 -3 1 0
% o 257 706 352 354 3 6 -3 1 8
HEIEF 3,150 | 8,600 | 4,210 4,390 12 -2 -11 0 9
iR 802| 2,3221 1,162 1,160 1 11 7 4 0

A A fif] 1,752 | 5,034| 2,507| 2,527 4 -7 -1 1 -7
B2 791 2,302 1,131 1,171 -1 —4 2 -1 -5
HE A 196 627 313 314 -3 -9 -10 0 1
=) 450 | 1,356 673 683 0 12 12 4 -4
B 643 | 1,895 960 935 -7 -20 -9 1 -12
Il 393 | 1,329 650 679 0 5 4 2 -1
/& 583 | 1,919 919 | 1,000 1 2 4 0 -2
&K H 281 892 449 443 2 4 4 -1 1
73 ER 497 | 1,632 782 850 -2 6 15 -4 -5
7R BT 144 401 203 198 -1 -3 -4 0 1
A 4,367 | 12,528 | 6,186 6,342 14 13 -8 13 8
w1 1,360 | 3,920 1,863| 2,057 -7 -8 1 2 -11
FEARSE 168 438 210 228 1 1 2 0 -1
B & 495| 1,563 772 791 25 24 -2 -1 27
A4EH 386 | 1,242 501 741 -3 -3 -2 -2 1
K2R 17 78 42 36 0 -1 -1 0 0
BJI—TH 180 499 2291 270 1 2 4 0 -2
BI=TH 278 669 310 359 2 -3 -4 0 1
BII=TH 448 | 1,116 572 544 4 7 4 0 3
2 520 | 1,708 770 938 -1 -9 -1 -2 -6
EJIET 1,426 3,992 1,881] 2 111 6 -3 3 -2 -4
T & 585| 1,612 872 740 -1 -2 -6 0 4
v B 1,573 | 4,456 | 2,293| 2 163 5 -2 4 1 -7
x {E 706 | 2,012 1,008| 1,004 6 8 6 1 1
BB = 2,142 | 5,985| 3,008| 2, 977 11 2 -2 2 2
L5 H 170 460 245 215 0 -3 -5 0 2
Gk ciec| 52 150 78 72 1 0 0 0 0
THH . 98 267 136 131 -1 0 -1 0 1
MEE—TH 366 995 507 488 11 12 3 -1 10
HEE_TH 910 2,371 1,218]| 1,153 -1 -3 -1 3 -5
HEE=TH 647 | 1,869 964 905 -4 -15 -10 1 -6
e Et 1,923 5,235 2,689 2 546 6 -6 -8 3 -1
= 1,738 5,277| 2,607| 2 670 -3 1 11 5 -15
B 2,812 8,279 4,082| 4,197 9 -7 -10 -3 6
i R 1,550 | 4,657 | 2,370| 2 287 2 0 -1 2 -1
KM 1,245| 3,454 1,896| 1,558 -8 -14 -3 6 -17
£ E 368 | 1,195 605 590 -1 -5 0 -2 -3
Bl b 202 659 345 314 -2 1 2 1 -2
= H 628 | 1,923 995 928 -2 -6 4 1 -11
F &£ 1,017 3,472| 1,714 1,758 5 8 3 4 1
kK B 345] 1,083 532 551 1 —4 -4 0 0




BB AT (R84 12 26 H.535)

X & HEH | B &K 5 ) AQ il B ft&
HE L HE R BE BB R
XK 38 138 71, 67 0 -1 -1 0 0
i, 168 585 274 311 -1 -1 -2 0] . 1
EIE 140 446 227 219 0 -1 0 0 -1
k295 321 1,085 539 546 0 1 2 -2 1
BRAE 233 878 424 454 -1] . -1 0} 1 -2
BB 242 889 427 462 1 1 2 0 -1
HEE 181 950 477 473 6 6 0 0 6
BN 129 390 179 211 -2 -8 —4 -1 -3
EFE—TH 122 347 174 173 4 8 4 -1 5
EfFE_TH 266 764 375 389 6 13 5 1 7
EfNE=TH 222 615 298 317 - -1 -2 -1 -1 0
EFENTE 154 522 251 271 -1 -1 -1 - -1 1
ENELTH 181 544 272 272 -3 -6 -5 -1 0
EfFiE 1,956 | 5,780 2,905| 2, 875 4 11 | -11 0 22
EfFEE 2,901 | 8,572 4,275| 4,297 9 23 -9 -3 35
A5 945| 3,144| 1,607 1.537] -1 -1 3 1 ()
EHE—TH 858! 2,408| 1,198 1,210 33 86 57 3 26
EEH_TH 9871 2,822| 1,454| 1,368 9 10 1 3 6
BEE=T8H 374 | 1,067 536 531 -1 0 2 -1 -1
EYNTH 439 | 1,341 653 688 1 11 8 1 2
BEEYETH 432 | 1,264 643 621 -2 -3 0 -2 -1
BEEATH 303 934 492 442 0 1 0 4 -3
BEEtTH 78 163 105 58 0 3 -1 1 3
H g 246 708 368 340 1 4 1 0 3
EEE 3,717] 10,707 | 5,449 5,258 41 112 68 9 35
EEEG—TH 286 704 355 349 3 8 3 3 2
HEE_THE 204 627 311 316 -1 -2 -3 1 0
miEE=TH 222 629 307 322 3 7 2 0 5
B 712 1,960 973 987 5 13 2 4 7
/N\IE—TH 371 1,028 531 497 1 8 7 0 1
NNE_TH 602 1,803 866 937 -2 -7 3 2 -12
N\E=TH 400 1,100 532 568 | -1 -5 0 0 -7 ‘)
AN\EENT B 225 597 310 287 3 8 8 0 07~
AN 37 110 52 58 0 -1 0 0 -1
N\ BB EE 1,635 4,638| 2,291 2 347 1 3 18 2 -17
A1 81 334 159 175 0 4 0 1 3
X 3 127 485 230 255 -1 -1 0 1 -2
AT 232 799 376 423 -1 -4 -4 0 0
AR ] 135 524 258 266 1 0 0 0 0
LE® 198 832 394 438 0 -5 -2 1 -4
F A3 207 769 389 380 -1 -1 -2 0 1
5O 365 1,027 502 525 -1 -4 0 -1 -3
HHRKR 43 186 91 95 0 -1 0 0 -1
g )l 1,090 3,425| 11,7531 1,672 7 -8 -12 -4 8
PIRER 169 570 279 291 -1 -2 0 2 -4
PR 977 | 3,189 1,591 | 1,598 5 9 3 =2 8
L+ BT 68 262 129 133 0 -2 0 0 -2
N BB 193 768 384 384 0 -3 0 -1 -2
7 29 124 52 72 0 0 0 0 0
B K& 78 378 197 181 1 1 0 0 1
N 994 | 3,459 1,719] 1,740 -4 -17 -1 2 -18
* RED 0 13, BHUHMELLEFRLET,



PEERRTIER (FAL84E 124 26 B 38 1T)

1 AD-H#E¥H FsE6 H1B|E (FAELDOLEER)

A O 199,880 A 82 AlH
g 98,977 A 46 A
% 100,903 A 36 A

L2 68,367 fH#& 135 i

2 AFF - XHAIAD - #HH L1 B OEHAR
(FER 84 6 A 1 HIRTE)

X 4 HHE | B % % % i AR bl B4R s
HEW R e HER R

& F 68,367 | 199, 880 | 98,977 | 100, 903 135 82 0 53 29
& T 30,769 | 86,515 | 42,287 | 44, 228 40 -9 -19 20 -10
X = 2,583 | 7,601| 3,563| 4,038 8 8 6 -7 9
B2 ) 1,427 3,981 1,880 2,101 1 ~-11 -1 -1 -9
¥ OFF 4,563 | 13,562 | 6,696| 6,866 13 6 -4 7 3
g 3,170 | 9,312 4,877| 4,435 7 6 -5 5
L 2,556 | 8,352 4,182] 4,170 18 46 33 5 8
TEH 1,114 4,200 2,051| 2,149 ~ 7 8 2 -1 7
A H 574 2,139 1,018| 1,121 -1 -3 -1 -1 -1
gq 817 | 2,818] 1,377| 1,441 5 4 1 -1 4
i 3,406 | 11,770 | 5,844 | 5,926 10 7 -2 2 7
vo==x 17,388 | 49,630 | 25,202 | 24, 428 27 20 -10 24 6

3 SAHABOAOSE

X 4 &t 5 Z :

RS 82 46 36 */PMRETOADE HHIL, 5 EKHEELRHIC
B R #E R 53 23 30 EDEERAERLTWETA, BEZ, 5EZLIZFH
oA 170 81 89 DASEZREOAD - HHKTER L LTERER
¥ T 117 58- 59 BiRE, SEABRFERVCFEEDEDICLIEA,
o8R0 29 23 6 &, A&, ECOAROBHEZEAMET 3 HiE

= A 611 338 273 ICEDERLTVETS,
B4y 271 150 121 Lo, ERWMEEREN10A 1 ARENARD
BEAMNG 337 185 152 . BEADE, £, FRUAD I HBBEEOADZ,
T Oft 3 3 0| AR EFATOET,

I 582 315 267
B~ 270 150 120
B~ 310 164 146
Dl 2 1 1




BOE BT E (PRI84 125 26 H ]1T)

5 EHTFHAO- #HES (Er 846 A 1 AE)
X 4 HEER B &K 3 @ jLin:3 Ao G2 B8R #HE
P HE R %5 R R
& 5t 68, 367 | 199, 880 | 98, 977 {100, 903 135 82 0 53 29
KHET—TH 282 849 362 487 3 2 -3 -1 6
KET_TH 341 896 432 464 -2 -5 -4 0 -1
KE=TH 458 | 1,108 550 558 1 1 2 0 -1
KETIOT H 366 1,028 479 549 2 5 5 2 -2
KHTEE 1,447| 3,881 | 1,823| 2 058 4 3 0 1 2
FE—TH 552 | 1,405 674 731 3 -8 -2 1 -7
FE_TH 392 | 1,112 534 578 0 —4 -5 0 1
FEZTHE 310 878 439 439 1 -1 0 2 -3
RHTE 1,254 ] 3,395| 1,647 ! 1,748 4 -13 -7 3 -9
ER—TH 428 | 1,073 479 594 -1 -2 -1 -3 2
EFT_TH 410 1,099 543 556 -2 -5 0 -2 -3
ERT=TH 4471 1,197 560 637 -5 -9 -7 -1 -1
TN T B 427 1,364 646 718 1 1 1 1 -1
IERTE 1,712 4,733] 2,228| 2,505 7] 15 7 5 1)
AH—TH 192 501 210 291 -2 -5 0 0 -5
AR _TH 262 731 313 418 1 1 =2 -1 4
AB=TH 345| 1,017 457 560 0 -2 0 0 -2
AETT H 351 974 461 513 0 -5 4 -2 -7
AHT &t 1,150 3,223 | 1,441 1,782 -1 -11 2 -3 -10
N 27 70 36 34 0 0 0 0 0
M —TH 209 611 296 315 -1 -5 -3 -1 -1
HE_TH 212 562 | 251 311 2 3 0 0 3
EE=TH 344 993 474 519 0 -2 -1 0 -1
AT T H 287 706 330 376 -1 -4 -1 -1 -2
| PEETET 1,052 2,872| 1,351] 1,521 0 -8 -5 -2 -1
FH—TH 271 758 364 394 0 -2 0 0 -2
EEI_TH 146 390 194 196 -2 -3 -3 0 0
HFH=TH 441 | 1,151 606 545 2 -1 2 0 -3
FEUTH 352 | 1,064 526 538 6 6 4 0 2
FEETH 464 | 1,108 557 551 -1 3 1 0 a ‘)
FHTET 1,674 | 4,471] 2,247| 2,224 5 3 4 0 -1
HET—TH 768 | 2,192| 1,064! 1,128 -1 -6 -8 0 2
HET_TH 193 561 250 311 1 -1 1 -1 -1
HET=TH 475 1,333 658 675 4 7 -2 1 8
HITMNTH 204 602 290 312 0 3 2 0 1
HETRETH 273 707 340 367 -4 -9 -10 0 1
HHETE 1,913] 5,395 2,602| 2 793 0 -6 -17 0 11
mLU—T8H 668 1,791 881 910 1 -2 -2 0 0
BIL_TEHE 532 | 1,411 662 749 2 7 9 0 -2
BIL=TE 564 | 1,478 739 739 3 -1 -2 0 1
W TH 193 535 241 294 1 -4 0 -3 -1
HILEt 1,957 | 5,215] 2,523| 2 692 7 0 5 -3 -2
B —TH 1,099 2,917| 1,499| 1,418 12 22 9 3 10
EFI_TH 649 | 1,801 878 923 -2 -8 -7 2 -3
B =TH 560 | 1,491 777 714 2 5 -3 5 3
EFTUTH 111 231 128 103 0 0 1 0 -1
BEETH 582 | 1,689 825 864 0 3 6 0 -3
BEIATH 2 3 2 1 0 0 0 0 0
ESFT &t 3,003| 8,132| 4,109] 4,023 12 22 6 10 6




FeEMITEY (ER84E12H 26 H R4T)

X 47 HEL | R % 5 = gL A0 i) B s
A HERR BE) TR HEE
*E 1 8 5 3 0 0 0 0 0
+ =F 18 49 21 28 -1 -1 0 0 -1
Kk 7 1,224 | 3,470 1,729 | 1,741 -1 -15 -8 -2 -5
® & 25 89 43 46 -1 -1 0 -1
i 96 201 113 88 -1 -1 -3 1 1
FEA H 39 88 39 49 0 2 0 0
% o 256 699 345 354 -1 -7 -4 -1 -2
EIEF 3,157 | 8,602| 4,205| 4,397 7 2 -5 10 -3
iR 8071 2,331 1,166| 1,165 5 9 1 4 4
AR H A 1,745 5,029| 2,505| 2 524 -7 -5 4 -2 ~7
2N 7921 2,299 1,127] 1,172 1 -3 -7 1 3
e 197 628 314 314 1 1 -4 2 3
= 449 | 1,352 670 682 -1 -4 -2 -1 -1
=B 648 | 1,909 969 940 5 14 8 2 4
Bl 398 | 1,334 654 680 5 5 7 -1 -1
/& 598 | 1,941 930 1,011 15 22 10 -1 13
&7k BT H 280 891 449 442 -1 -1 -4 1 2
B 495 | 1,634 783 851 -2 2 6 -4 0
J R ETH 145 404 204 200 1 3 2 0 1
A BF 4,358 | 12,520 | 6,178 | 6,342 -9 -8 =2 10 -16
w & 1,366 | 3,925| 1,871| 2,054 6 5 5 -3 3
FRE 168 435 207 228 0 -3 0 -1 -2
B = 495| 1,562 770 792 0 -1 -3 1 1
AR 389 1,251 504 747 3 9 5 -3 7
KZE 17 78 42 36 0 0 0 0 0
B)I—=TH8 180 497 228 269 0 -2 0 0 -2
BIN=TH 280 667 312 355 2 -2 -2 0 0
BINI=TH 451 | 1,117 573 544 3 1 2 0 -1
2 ) 516 | 1,700 767 933 -4 -8 -1 -1 -6
It 1,427 3,981 ] 1,880] 2 101 1 -11 -1 -1 -9
T i3 588 | 1,627 878 749 3 15 11 3 1
+ =B 1,570 | 4,4571 2,290| 2 167 -3 1 -1 3 -1
x 705 2,000 1,002 998 -1 -12 -15 2 1
& = 2,148 5,997 | 3,017| 2 980 6 12 2 8 2
LEH 170 460 245 215 0 0 0 0 0
b sils) 52 149 78 71 0 -1 0 0 ~1
T#HH 99 268 137 131 1 1 0 0 1
mEE—TH 369 | 1,006 516 490 3 11 9 0 2
mEE_—TH 916 | 2,393| 1,228 1,165 6 22 11 0 11
B¥EE-TH  649] 1,859 958 901 2 -10 -7 -1 -2
BieE st 1,934 ] 5,258 2,702| 2 556 11 23 13 -1 11
g i 1,739 5,280 ] 2,613| 2,667 1 3 -2 5 0
B 2,824 | 8,282 4,083] 4,199 12 3 -2 2 3
R_R® 1,553 | 4,663| 2,373| 2,290 3 6 1 2 3
Bk H 1,247 3,451| 1,899 1,552 2 -3 -4 3 -2
Z E 370 1,198 605 593 2 3 -2 1 4
Bl 4R 205 671 352 319 3 12 14 0 -2
=5 A 634| 1,936 | 1,000 936 6 13 5 3 5
T+ &£ 1,023 3,486 | 1,720| 1,766 6 14 11 1 2
x5 350 | 1,092 539 553 5 9 5 0 4




X 4 HEH | & 5 i HH N TN B e
’ . HE L R B R R
BEXK 37 137 71 66 -1 -1 0 0 -1
(i 167 583 272 311 -1 -2 -2 0 0
EIE ' 140 447 228 219 0 1 0 1 0
EERE 321 1,079 536 543 0 -6 -3 0 -3
EHRAE . 234 876 424 452 1] -2 —4 0 2
BT 244 893 429 464 2 4 2 0 2
HE®E 179 948 476 472 -2 -2 0 -1 -1
SE e 135 404 186 218 6 14 7 0 7
EME—TH 122 346 173 173 0 -1 0 0 -1
ErfE_TH 267 766 375 391 1 2 0 0 2
EME=TH 223 612 - 299 313 1 -3 -2 0 -1
EffENTH 151 518 250 268 -3 -4 0 0 -4
EffERTE 181 543 271 272 0 -1 0 0 -1
EfFEE 1,956 | 5,776 | 2,902| 2,874 0 -4 -3 -1 0
ERTEst 2,900 | 8,561 | 4,270 4,291 -1 -11 -5 -1 -5
H & 939 3,134| 1,600] 1,534 -6 -10 -1 1 —1&)
BEY—TH 861 | 2,404 | 1,192 1,212 3 -4 -5 0 1
BE_TH 985| 2,816| 1,455| 1,361 -2 -6 -8 1 1
BEY=TEH 376 | 1,069 540 529 2 2 1 0 1
BEMNTE 440 | 1,343 653 690 1 2 8 0 -6
BEARETE 432 | 1,260 638 622 0 -4 -6 2 0
BHEANTE 303 935 492 443 0 1 -2 1 2
BBAETH 81 170 111 59 3 7 0 1 6
B 4 248 711 370 341 2 3 1 1 1
BEEE 3,726 | 10,708 | 5,451 5,257 9 1 -11 6 6
BiEE—TH 290 710 358 352 4 6 4 2 0
EEE _TH 206 629 313 316 2 2 1 1 0
HiEE=TH 223 634 308 326 1 5 4 0 g
FEIEE 5 719] 1,973 979 994 7 13 9 3 1
/N\BE—TH 371 1,024 529 495 0 -4 -4 -1 1
/N\EZTH 605 | 1,810 870 940 3 7 9 0 -2
NAE=TH 398 | 1,098 533 565 -2 -2 -5 1 2 )
/NABEDT B 223 588 303 285 -2 -9 -8 0 -1
AN 37 110 52 58 0 0 0 0 0
/IN\BEE 1,634 4,630 2,287| 2,343 -1 -8 -8 0 0
"B 82 337 160 177 1 3 0 0 3
K fH 126 481 226 255 -1 -4 0 -1 -3
AT 231 797 375 422 -1 -2 -1 0 -1
L2 i 135 524 257 267 0 0 0 0 0
FER 201 837 396 441 3 5 1 -1 5
TRFHF 210 769 388 381 3 0 1 0 -1
-] 364 | 1,026 502 524 -1 -1 -1 0 0
BHRKR 43 186 91 95 0 0 0 0] - 0
ar_Jl| 1,094 3,423| 1,754! 1,669 4 -2 -3 0 1
FRE 169 567 278 289 0 -3 -2 0 -1
FEE 980 | 3,191| 1,594| 1,597 3 2 -3 1 4
L& 68 261 129 132 0 -1 -1 0 0
AR 195 770 384 386 2 2 3 0 -1
] 29 124 52 72 0 0 0 0 0
B & 18 378 197 181 0 0 0 0 0
N 9971 3,464 | 1,722| 1,742 3 5 0 1 4
' * RPD 0 i, BREBERLERLET,
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A B 199,908 A
5 98,997 A
& 100,911 A
L2 68,453 tit#

2 AFF - XFBIAD - HS5 L E1 A E QRMAR

28 AHE

20 A

8 A

86 fit#Hiig

BEBITESR (CR84E12H 26 0 B1T)

FTH8&F7HA1BRE (F1A &L DEEEER)

(FR 847 A 1 BEE)

X 4 HHEE | B K % % L N =] il B HE
HER MR 2E) R B
& F 68, 453 | 199, 908 | 98, 997 | 100, 911 86 28 0 62 -34
X T 30,787 | 86,484 | 42,272 44,212 18 -31 -41 28 -18
X # 2,583 7,607| 3,574 4,033 0 6 -2 -2 10
B il 1,436 | 3,989 | 1,882 2,107 9 8 2 2 4
O 4,571 | 13,549 | 6,692 | 6,857 8 -13 3 7 -23
& 3,185( 9,336| 4,891 4,445 15 24 14 8 2
ErFe 2,568 | 8,372 4,192| 4,180 12 20 9 -3 14
TE#H 1,120 | 4,209| 2,056 2,153 6 9 9 3 -3
R # 575 2,139 1,016| 1,123 1 0 3 -2 -1
g 817| 2,812 1,372 1,440 0 -6 1 -3 -4
o 3,410 11,739| 5,824| 5,915 4 =31 -5 -3 -23
vHo=x 17,401 | 49,672 | 25,226 | 24, 446 13 42 7 27 8
3 6 APDOADENRE
X 45 it % =
B 28 20 8 *NOBEETOAND L HHIT, BE)|BEHAELRGI
B A # R 62 33 29 BESEBAERLTOETA, BEE. 5EZLIZT
B4 159 92 67 DRIEZREOAD - HERLEME L CEREER
% T 97 59 38 BiRE, AEABRZERVFEEDEDICLBEA,
ft & 8 = -34 -13 -21 @, WA, BECOAMOBHESEAMKT 5 HiE
= A 531 273 258 ICEVEBLTHET,
B4 G 230 117 113 oz, BEREEBEN10A 1 HEEDAD
BAMNG 295 152 143 Z. BEAQ L, £, ThUSO 1 BREEDAD S,
T Oft 6 4 2| #IHADELFATOET,
= WM 565 286 279
Bot~ 288 147 141
BN~ 271 136 135
Z D1t 6 3 3




@%@%HE% (R84 12 26 H B4T)

5 EITFHAOD - HEHK CER 847 A 1 HBETE)
X 45 HEH | B K 3 = #HHE | AO bl B s
L B | BE | #mE B
& Bt 68, 453 1199, 908 | 98,997 1100, 911 86 28 0 62 -34
KE—TH 280 844 359 485 -2 -5 -1 0 -4
KE_TH 339 901 433 | - 468 -2 5 6 1 -2
XKE=TH 460 | 1,106 553 553 2 -2 -3 1 0
KETUTE 365 | 1,027 479 548 -1 -1 -4 1 2
SKHETE 1,444| 3,878 1,824| 2 054 -3 -3 -2 3 -4
FE—TH 552 | 1,410 676 734 0 5 4 1 0
FE_TH 393] 1,114 535 579 1] - 2 0 0 2
FHET=TH 307 874 437 437 -3 -4 -5 1 0
FHRT 5 1,252| 3,398| 1,648| 1,750 -2 3 -1 2 2
EAT—TH 428 | 1,070 479 591 0 -3 0 -2 -1
BRI _TH 403 | 1,086 537 549 -7 -13 -5 -3 -5
B =TH 447 1,189 557 632 0 -8 -8 -1 1
ERTUT B 426 | 1,362 645 717 -1 -2 -1 0 -1 |
IEHT 5 1,704 4,707 | 2,218 2,489 -8 -26 -14 -6 ~(\>
AET—TH 193 498 210 2881 1 -3 -4 -1 2
A TH 266 738 315 423 4 7 5 0 2
AET=TH 344 | 1,015 456 559 -1 -2 0 -1 -1
AETHTH 354 979 464 515 3 5 0 1 4
AHBT 5 1,157 3,230 1,445| 1,785 7 7 1 -1 7
W N 27 69 35 34 0 -1 0 -1 0
HIT—TH 208 608 294 314 -1 -3 0 0 -3
EfT_TH 212 565 252 313 0 3 0 1 2
MIT=TH 347 994 474 520 3 1 4 -1 -2
FEHTET B 289 709 333 376 2 3 -2 0 5
FAET 5t 1,056 | 2,876| 1,353| 1,523 4 4 2 0 2
FHT—TH 271 753 362 391 0 -5 -3 -1 -1
HFHT_TH 147 391 194 197 1 1 -1 1 1
FEI=TH 442 | 1,151 606 545 1 0 -4 0 4
FETMNTH 3531 1,060 524 | 536 1 -4 -2 1 -3
EIHETH 4621 1,115 561 554 -2 7 5 4 —?,"‘)
ERT 5 1,675 | 4,470 2,247] 2, 2923 1 -1 -3 5 -1y
HEI—TH 769 ] 2,190 1,064| 1,126 1 -2 -1 -1 0
RETZTH 192 558 250 308 -1 -3 -3 0 0
RETZTH |  481] 1,340 660 680 6 7 4 0 3
FETIOT B 204 602 290 312 0 0 0 0 0
HETHETH 274 715 346 369 1 8 10 0 =2
HHT 3 1,920 | 5,405| 2,610] 2,795 7 10 10 -1 1
BIL—TBH 669 | 1,788 883 905 1 -3 0 0 -3
BWL"TH. 532 | 1,411 661 750 0 0 1 0 -1
BWIL=TEH 560 | 1,470 735 735 -4 -8 -4 1 -5
LT H 192 531 239 292 -1 -4 -3 -1 0
wE 1,953 | 5,200| 2,518 2,682 -4 -15 -6 0 -9
EBE—TH 1,094 | 2,907 | 1,491 1,416 -5 -10 -5 3 -8
BEI_TH 646 1,800 877 923 -3 -1 -3 2 0
BEI=TH 562 | 1,496 7717 719 2 5 -2 3 4
BETUT B 111 231 127 104 0 0 0 0 0
BEETH 576 | 1,681 818 863 -6 -8 -4 0 -4
BEATH 2 3 2 1 0 0 0 0 0
EI®T 5+ 2,991| 8,118| 4,092! 4,02 -12 -14 -14 8 -8




BaE R FTIEY (EAL84E 124 26 B :&1T)

X % HEEHE B % 5 = L A0 il B &
HE HER 2E) B X

k% 1 8 5 3 0 0 0 0 0
+ = 18 49 21 28 0 0 0 0 0
7k & 1,214 3,4421 1,712| 1,730 -10 -28 -16 -1 -11
s & 251 89 43 46 0 0 0 0 0
i 98 203 114 89 2 2 0 0 2
FHAAH 38 87 38 49 -1 -1 0 0 -1
£ & 256 700 347 353 0 1 -2 0 3
EEF 3,159 ] 8,591 | 4,208| 4,383 2 -11 -14 8 -5
FER 809 | 2,332| 1,166| 1,166 2 1 -1 1 1
ER 1,763 5,056 | 2,524| 2 532 18 27 14 2 11
Bz 7941 2,305 1,126] 1,179 2 6 3 0 3
BT = 196 626 312 314 -1 -2 1 0 -3
= 454 | 1,362 674 688 5 10 5 1 4
B 645 | 1,906 965 941 -3 -3 1 0 -4
5l 398 | 1,337 653 684 0 3 1 -3 5
b/ & 602 | 1,946 933 1,013 4 5 1 -1 5
BE/KE H 280 890 450 440 0 -1 -3 1 1
73 ER 501 | 1,644 788 856 6 10 5 2 3
NERHTH 145 405 205 200 0 1 0 1 0
A B 4,362 | 12,5081 6,170 6,338 4 -12 -7 71 -12
W B 1,359 | 3,916 1,871 2,045 -7 -9 -8 0 -1
ARG 170 445 210 235 2 10 10 1 -1
B £ 495 | 1,559 772 787 0 -3 -9 0 6
A%EH 391 1,253 505 748 2 2 2 -2 2
KZE 18 81 44 37 1 3 3 0 0
B)II—TH 183 504 230 274 3 7 4 2 1
BIIZ-TH 284 672 314 358 4 5 5 0 0
BI=TH 452 | 1,113 571 542 1 -4 -1 0 -3
2 5171 1,700 767 933 1 0 -6 0 6
)5t 1,436 3,989 1,882 2,107 9 8 2 2 4
T iR 588 | 1,626 878 748 0 -1 0 1 -2
t B 1,575 | 4,474 2,299| 2 175 5 17 7 6 4
x £ 700 | 1,992 998 994 -5 -8 -6 4 -6
e = 2,150 5,987 | 3,016 2,971 2 -10 -3 2 -9
LHHA 171 466 246 220 1 6 1 0 5
FEH 50 147 77 70 -2 -2 0 1 -3
THH 100 269 138 131 1 1 1 0 0
EEE—TH 378 | 1,041 533 508 9 35 27 2 6
HEE_TH 921 2,408 1,237 1,171 5 15 -3 6 12
EEE=TH 649! 1,85 956 900 0 -3 -4 -1 2
Bl 1,948 5,305| 2,726| 2,579 14 47 20 7 20
g i 1,746 | 5,282 | 2,615| 2,667 7 2 6 1 -5
a8 1 2,825| 8,267 | 4,077| 4,190 1 -15 -3 6 -18
iR R 1,559 4,679 2,381| 2 298 6 16 6 5 5
K H 1,256 | 3,461 1,906 1,555 9 10 9 3 -2
#Z 370 1,196 604 592 0 -2 -1 0 -1
ol IR 206 673 353 320 1 2 2 -1 1
&= M 6411 1,953 ] 1,005 948 7 17 11 -2 8
F K 1,029| 3,500 1,730 1,770 6 14 4 1 9
x & 349 1,084| - 536 548 -1 -8 -7 -1 0




PiEEHATEY (PASE12/ 26 H 384T}

1
X & HEH B K 5 g U Ad Gila! B #HE
R R | B8 R HERL
HAK 37 133 69 64 0 -4 0 0 -4
BAAK 166 582 271 311 -1 -1 -1 0 0
EE 140 447 228 219 0 0 0 0 0
&R 321 1,082 538 544 0 3 0 2 1
BERARE 233 870 421 449 -1 -6 -1 0 -5
SR 247 899 432 467 3 6 6 0 0
B-E79:- 181 950 477 473 2 2 0 0 2
SEOLHE 137 408 188 220 2 4 4 1 -1
ERE—TH 123 348 174 174 1 2 0 0 2
EFE_TH 266 761 374 387 -1 -5 1 0 -6
EfFfE=TH 222 617 302 315 -1 5 4 0 1
EFEMNTH 150 515 247 268 -1 -3 -4 0 1
EfFERTH 180 542 269 273 -1 -1 -1 1 -1
EHAiTE 1,961 | 5,779| 2,904| 2,875 5 3 -3 1 5
EfFEET 2,902 8,562 4,270 4,292 2 1 -3 2 2
B 935 3,135| 1,604] 1,531 4 1 0 2 -( )
BEE—TE 859 | 2,401 1,189| 1,212] -2 ~3 -5 2 0/
BEEA_TE 987 2,809 1,451 | 1,358 2 -7 0 -2 -5
BE=TH 377 1,073 539 534 1 4 2 1 1
BEENTE 4391 1,351 656 695 -1 8 3 1 4
BEYETE 432 | 1,255 634 621 0 -5 -6 1 0
BEEARTH 302 932 492 440 -1 -3 -3 0 0
EELTE 81 169 111 58 0 -1 -3 1 1
BB 249 710 369 341 1 -1 0 -1 0
= 3,726 | 10,700 | 5,441 5,259 0 -8 -12 3 1
mEE—T8 290 709 358 351 0 -1} 0 0 -1
FEEG_TH 206 632 314 318 0 3 3 0 0
HEG=TH 223 635 310 325 0 1 0 0 1
FaEE E 719 | 1,976 982 994 0 3 3 0 0
NA\E—TH 373 1,02 529 497 2 2 2 -1 1
/N\BEZTH 604 | 1,808 870 938 -1 -2 -1 1 -2
/NA\E=TH 3971 1,101 535 566 -1 3 4 0 -1 )
/N\GEIE T B 222 584 301 283 -1 -4 -3 -1 0
AN\ BB 37 110 52 58 0. 0 0 0 0
N\ EE 1,633 | 4,629 2,287 | 2 342 -1 -1 2 -1 -2
A B 82 334 159 175 0 -3 -1 -1 -1
X s 127 485 226 259 1 4 4 0 0
BRF) 231 797 375 422 0 0 0 0 0
L2 id 135 523 256 267 0 -1 0 -1 0
LEH 201 835 394 441 0 -2 0 0 =2
TR 208 766 385 381 -2 -3 -1 -1 -1
) 366 | 1,026 503 523 2 0 2 -1 -1
BHRKR 43 185 90 95 0 -1 0 -1 0
a1 i 1,093 3,409 | 1,748| 1,661 -1 -14 -10 -3 -1
PRE 171 570 278 292 2 3 3 0 0
i E 979 3,179| 1,585| 1,594 -1 -12 -4 1 -9
+ B 68 261 129 132 0 0 0 0 0
N AR 198 770 385 385 3 0 0 0 0
i 7 29 124 52 72 0 0 0 0 0
B K 78 375 196 179 0 -3 -1 0 -2
N 998 | 3,455| 1,715] 1,740 1 -9 4 -1 -12
* BPD 0 1F, ZEBEL2LEZTLET,



MERTER (ERs4E12H 268 %17)

1 AR-#%% THeE8H 1 HEAE (F1H & DL&IER)

A B 200,049 A 141 AS
5 | 99,055 A 58 A8
% 100,994 A 83 At

g 68,544 HH 91 sy

2 AT - XFAAIAQ - B EET1 H B OEFEAR
(ErK 848 A 1 HETE)

X 4 HEH | R &% = z & AR A B &
i HER BE HaE =11

& 3 68, 544 1200, 049 | 99, 055 | 100, 994 91 141 0 73 68
X Fr 30,795 | 86,475 | 42,246 | 44, 229 8 -9 -52 29 14
X # 2,598 | 7,627| 3,588 4,039 15 20 14 1 5
Bl 1,426 | 3,976 | 1,869| 2,107 -10 -13 -7 -2 -4
B OFH 4,576 | 13,578 | 6,698 | 6,880 5 29 10 5 14
g JI 3,215| 9,362 | 4,908| 4,454 30 26 0 2 24
LR 2,580 | 8,427 | 4,221 4,206 12 55 25 15 15
TE# 1,116 | 4,211 2,059 | 2,152 -4 2 -2 3 1
R A 576 | 2,136 1,014 1,122 1 -3 0 0 -3
g 814 | 2,803 1,370| 1,433 -3 -9 -4 -1 -4
% 3,417 | 11,727 5,822| 5,905 7 -12 -6 -4 -2
o= 17,431 | 49,727 | 25,260 | 24, 467 30 55 22 25 8

“/‘N\ i

3 78B40 ADEEE

X 4 5t % z
B 141 58 83 */PEETOAD & HH#IT, BEREHFEERGIC
B R R 73 24 49 ESEBAERLTOWETH, BEL. 5EZLICH
£ 170 81 89 DNOEZFEEOAD - HELRLERL LTEREX
¥ T 97 57 40 BRIE. AEABRBRERVFEEDEDICLEDEA,
& 8 E| 68 34 34 &H, HE, BECOABOBHEEZEAMKT A HIE
= A 694 386 308 EDERLTHET,
BAkn g 299 172 127 IO, EEREERENC10A 1 BEENAD
BANy 389 209 180 T, BEADL, 2, FRLSO 1 EBEOAD .
T Dt 6 5 LI #HADELRATOES,
= W 626 352 274
BAh~ 293 172 121
B~ 329 177 152
Z Dt 4 3 1




S
W AT IE ¥ (R84 12 26 B 347)

S HMITFHADO - HEH (FER 848 A 1 AELE)
X 4 HEH | B & 5 = H# AQ liil%! HR e
R R 22 R | EE
& 68, 544 200, 049 | 99, 055 | 100, 994 91 141 0 73 68
KE—TH 275 836 353 483 -5 -8 -8 0 0
K _TH 341 903 435 468 2 2 -3 1 4
KE=TH 457 | 1,103 - 547 556 -3 -3 3 -1 -5
EEMNTH 364 | 1,028 481 547 -1 1 1 -1 1
SKETE 1,437 ] 3,870 1,816 2,054 -7 -8 -7 -1 0
FE—TH 554 | 1,412 679 733 2 2 6 -2 -2
FE_TH 394 | 1,115 536 579 1 1 2 0 -1
HFE=TH 310 881 440 441 3 7 2 1 4
HETE 1,258 | 3,408 | 1,655 | 1,753 6 10 10 -1 1
EIT—TH 429 | 1,073 479 594 1 3 4 0 -1
BB ZTH 402 | 1,081 533 548 -1 -5 1 0 -6
ERT=TH 449 | 1,186 555 631 2 -3 0 -1 -2
ZETIOT E 426 | 1,359 643 716 0 -3 2 -5 0
IERTE 1,706 | 4,699 | 2,210| 2 489 2 -8 7 -6 -
AE—TH 192 497 209 288 -1 -1 0 0 -1
AET-TH 268 744 319 425 2 6 5 1 0
AET=TH 342 | 1,010 454 556 -2 -5 -1 -1 -3
AETIUT B 351 975 462 513 -3 -4 1 0 -5
AHT 5 1,153 3,226 1,444| 1,782 -4 -4 5 0 -9
N 27 69 35 34 0 0 0 0 0
BEEi—TH 208 607 293 314 0 -1 0 -1 0
HET_TH 211 565 252 313 -1 0 0 1 -1
BmE=TH 347 995 471 524 0 1 1 -3 3
EETH 287 703 330 373 2| -6 -6 0 0
FEET 5t 1,083] 2,8701 1,346| 1,524 -3. -6 -5 -3 2
HH—TH 272 755 363 392 1 2 2 0 0
EE_TEH 143 385 192 193 -4 -6 -5 2 -3
FI=TH 442 | 1,149 607 542 0 -2 -1 0 -1
FHMUTE 357 1,060 520 540 4 0 -1 1
EERTE 460 | 1,106 555 551 -2 -9 -6 0 =2 )
F#ET 3t 1,674 | 4,455| 2,237 2. 218 -1 -15 -11 3 -7
RET—TH 770) 2,192 1,061| 1,131 1 2 -11 1 12
HEIZTH 195 563 252 311 3 5 2 0 3
HEI=TH 482 | 1,346 663 683 1 6 -4 3 7
HATMWT B 207 604 292 312 3 2 0 -1 3
REETH 275 724 349 375 1 9 13 0 -4
HHTE 1,929 | 5,429| 2,617| 2 812 9 24 0 3 21
BIL—TH - 668 1,782 878 904 -1 -6 -5 1 -2
RIU_TH 534 | 1,418 663 755 2 7 5 0 2
BILZ=TH 568 | 1,490 747 743 8 20 -5 3 22
RUMTE 189 526 238 288 -3 -5 -6 1 0
| RE 1,959 | 5,216 2,526 2,690 6 16 -11 5 22
Bf—TEH 1,095 2,905| 1,492 1,413 1 -2 -3 -1 2
BY_TH 645| 1,796 874 922 -1 -4 -2 0 -2
EBE=TH 559 | 1,493 775 718 -3 -3 -9 3 3
BEUTE 111 231 127 104 0 0 0 0 0
BEETE 579 | 1,683 821 862 3 2 4 -2 0
EBEIATH 2 3 2 1 0 0 0 0 0
BT & 2,991 | 8, 111] 4,091| 4,020 0 -7 -10 0 3




BEESET EY (EERSE12H 26 B 317)

t# | A0 | A | B&E | da

X 4 HEE | R %K 5 g
HEH B BE) L R
T 1 8 5 3 0 0 0 0 0
+ = 18 49 21 28 0 0 0 0 0
K B 1,213 3,434 1,706 1,728 -1 -8 -10 0 2
B 25 89 43 46 0 0 0 0 0
ok 98 203 114 89 0 0 0 0 0
FHHH 35 82 37 45 -3 -5 -5 -1 1
% & 256 698 346 352 0 -2 1 0 -3
HEIEF 3,153 ! 8,568! 4,198 4,370 -6 -23 -6 5 -22
FER 806 | 2,328 1,165| 1,163 -3 -4 -4 1 -1
A% [ [ 1,789 | 5,102| 2,545| 2,557 26 46 30 1 15
A 7901 2,305] 1,125| 1,180 -4 0 -1 2 ~1
T = 195 620 308 312 -1 -6 -6 2 -2
I~ B 460 | 1,373 680 693 6 11 6 1 4
B 646 | 1,903 966 937 1 -3 -4 1 0
il 398 | 1,338 653 685 1 -1 -3
/& 602 | 1,944 927 | 1,017 0 -2 1 0 -3
IBEKETH 278 889 451 438 -2 -1 -3 2 0
7 HR 495 1,631 781 850 -6 -13 -10 0 -3
JCER T 144 405 204 201 -1 0 1 1 -2
A B 4,356 | 12,507 | 6,166 | 6,341 -6 -1 -25 15 9
w1 1,361 | 3,920| 1,868 2,052 2 4 6 0 -2
ERE 172 444 212 232 2 -1 2 0 -3
B 5 499 | 1,565 777 788 4 6 2 1 3
A£EH 3971 1,262 515 747 6 9 4 0 5
KZE 19 82 44 38 1 1 0 0 1
B)II—TH 183 503 228 275 0 -1 0 0 -1
BI=TH 281 670 312 358 -3 -2 -1 0 -1
BI=TAH 449 | 1,110 565 545 -3 -3 -1 1 -3
2 ) 513] 1,693 764 929 -4 -7 -5 -3 1
Bt 1,426 | 3,976 | 1,869 2,107 -10 -13 -7 -2 -4 |
T & 593 | 1,647 888 759 5 21 11 5 5
+ B 1,565 | 4,467 2,290| 2,177 -10 -7 4 4 -15
x {E 7031 1,991 999 992 3 -1 -2 -1 2
e = 2,148 | 5,974| 3,010 2 964 -2 -13 -8 -1 -4
et g s 169 461 245 216 -2 -5 -9 3 1
FEHE 50 146 77 69 0 -1 -1 0 0
THH 100 268 137 131 0 -1 0 -1 0
mEE—TH 398 | 1,106 571 535 20 65 50 1 14
mEE_TH 924 | 2,403 | 1,236| 1,167 -3 -5 0 1 -6
EIEE=TH  654] 1,860 959 901 5 4 -5 1 8
L= 1,976 | 5,369 ] 2,766 ! 2 603 28 64 45 3 16
= 1,747] 5,301 | 2,623| 2,678 1 19 12 1 6
Bl 2,829 8,277 | 4,075| 4,202 4 10 -2 4 8
iR R 1,567 4,697 | 2,388| 2, 309 8 18 9 4 5
R HE 1,277 3,472] 1,919 1,553 21 11 -8 -1 20
z = 3711 1,193 601 592 1 -3 -1 -1 -1
B R 208 680 356 324 2 7 4 0 3
& H 640 1,963 | 1,010 953 -1 10 4 5 1
F &K 1,031 3,522 | 1,742| 1,780 2 22 7 7 8
X 5 3561 1,095 542 553 7 11 6 1 4




SATES (PARS4E 12 265 B -

7‘% TP A
X 4 HER | L % 3 =@ i A0 il EEN H4
R R BE R R
HAK 37 131 67 64 0 -2 0 0 -2
[P 4 168 587 275 312 2 5 2 2 1
EE 140 449 229 220 0 2 2 0 0
HHE 322 | 1,085 539 546 1 3 0 0 3
SEAE 233 873 424 449 0 3 0 3 0
S BIFT 246 899 432 467 -1 0 0 0 0
S 179 947 477 470 -2 -3 -1 0 -2
S 135 407 187 220 -2 -1 -1 0 0
ErRE—TH 123 | . 348 174 174 0 0 0 0 0
EFE_TH 269 768 376 392 3 7 1 0 6
EREZ=TH 221 613 300 313 -1 -4 -3 -1 0
EMENTA 151 513 245 268 1 -2 -1 0 -1
EFELTH 184 554 274 280 4 12 5 0 7
EAFE 1,958 | 5,771| 2,900 2,871 -3 -8 -3 8 -13
ERFEEE 2,906 | 8,567 | 4,269 4,298 4 5 -1 7 -1
A & 932 | 3,127 1,599 1,528 -3 -8 -4 -3 1)
BHE—TH 860 | 2,402| 1,188| 1,214 1 1 -4 2 3
BEEA_TH 986 | 2,804 1,449| 1,355 -1 -5 -9 -2 6|
BE=TH 375 ] 1,068 535 533 -2 -5 0 -1 -4
BHEMNTHE 441 ] 1,350 654 696 2 -1 -5 0 4
BEYETH 4371 1,269 644 625 5 14 12 1 1
BEEATEHE 299 928 487 " 441 -3 -4 -4 3 -3
BHELTH 83 173 114 59 2 4 0 0 4
E 4 246 703 364 339 -3 -7 -9 2 0
s 3,727 10,697 | 5,435| 5,262 1 -3 -19 5 11
BEEY—TH 291 706 359 347 1 -3 1 2 -6
FEEEG - TH 209 641 319 322 3 9 6 0 3
EEE=TH 224 636 311 325 1 1 2 1 -2
BB A 724 | 1,983 989 994 5 7 9 3 -5
/N\E—T B 373 | 1,024 531 493 0 -2 -2 0 0
/NN\EZTH 604 | 1,811 874 937 0 3 6 0 -3
N\EB=TH 402 | 1,108 538 570 5 7 4 1 2
/) \E00 T B 223 585 302 283 1 1 1 0 07
N\ 36 109 52 57 -1 -1 0 0 -1
/BB E 1,638 | 4,637 2,297| 2, 340 5 8 9 1 =2
£ 1B 81 331 158 173 -1 -3 0 0} -3
k¥ 127 485 226 259 0 0 0 0 0
RAF) 232 795 373 422 1 -2 -2 0 0
AA) 136 525 257 268 1 2 2 0 0
EEH 201 833 393 440 0 -2 0 0 -2
FTARH# 207 763 386 377 -1 -3 -5 0 2
B M 364 | 1,022 501 521 -2 -4 1 -1 -4
HH KR 43 185 90 95 0 0 0 0 0
g I 1,090} 3,392| 1,740| 1,652 -3 -17 -14 -2 -1
JRE 172 569 278 291 1 -1 0 0 -1
oA R 979 | 3,172 | 1,584| 1,588 0 -7 -5 0 -2
L+ HT 68 260 129 131 0 -1 0 -1 0
. ) 198 769 384 385 0 -1 0 1 -2
7 : 29 124 52 72 0 0 0 0 0
B & 79 374 195 179 1 -1 0 -1 0
) 1,002 3,460| 1,719] 1,741 4 5 1 -1 5
* RED 0 iF, HUMERLERLES,



B SKET E ¥ (EHRSEE12 26 B R17)

1 AD-#HHH FH8FE9IA1HRE (BIA L DLLEIER)

A B 200,188 A 139 A
5 99,096 A 41 A8
= 101,092 A 98 A8
#HEEK 68, 586 fi# 42
2 KT XEAIAL - HEHER 1 MEOEBRAR
((FR. 849 B 1 BEIE)
X 4 HEH | B & % = g Af litla! B 4
FER HE | BE R HER
& Ft 68, 586 | 200, 188 | 99, 096 | 101, 092 42 139 83 56
K Fr 30,784 | 86,461 | 42,217 | 44, 244 -11 -14 -45 26 5
R & 2,594 | 7,621 3,586 4,035 -4 -6 -4 -2 0
B 1,429 | 3,981 1,872| 2,109 3 5 -2 0
®oH 4,580 | 13,579 | 6,694 6,885 4 1 8 9 -16
g ) 3,218 9,382 4,913 4,469 3 20 15 9 -4
EAF 2,581 | 8,437| 4,228| 4,209 1 10 -2 11 1
TEH 1,115| 4,209| 2,058| 2,151 -1 -2 2 2 -6
A 575 2,130 1,013| 1,117 -1 -6 -4 -1 -1
g5 I 818 | 2,807 | 1,372| 1,435 4 4 7 0 -3
% 3,422 11,750 | 5,824 5,926 5 23 -1 6 18
vE =T 17,470 | 49,831 | 25,319 | 24,512 39 104 17 25 62
3 8HHMOAOEAE
X 4 &t % z
woK 139 41 98 */INEFETOAR & H#IE, BEIREHAELGIC
B & 83 27 56 ESEHEAERLTOWETA, BEIZ. SEZLICH
HOA&E 193 90 103 DNIEZRHEOAD - HEFHEZEBL LTEREE
¥ T 110 63 47 BIRE, SEABRKERVFEEDEDIZL BEA,
it & # R 56 14 42 T, HE BECOAMOBEREZEAMRT A HE
&= A 548 279 269 LV ERLTHET,
BonG 247 127 120 o), BRREEREN10A 1 BRENAD
BAMNG 298 150 148 T, EEADL, £, ThUS O 1 RBEEDOAD S,
T O 3 2 L] #stADEmATHET,
= o 492 265 227
Boh~ 239 146 93
BA~ 253 119 134
ZDfth 0 0 0




HEERTEY (L8412 26H %‘%")’ .

5 ETT=EAD - #HEK (CEX 84 9 A 1 HETF)
X 4 W | B K B g HE | AO il EEN #HE
HB R 25 HE R R
& 5t 68, 586 | 200, 188 | 99, 096 | 101, 092 42 139 0 83 56
KE—TH 275 838 358 480 0 2 0 -2 4
®E_TH 341 901 433 468 0 -2 -1 -3 2
KET=TH 455 | 1,098 543 555 -2 -5 -6 1 0
KETWUTH 366 | 1,026 481 545 2 -2 -1 0 -1
AETEF 1 1,437] 3,863 1,815| 2,048 0 -7 -8 -4 5
FE—T8H 556 | 1,412 681 731 2 0 -2 -1 3
FE_TH 397 1,119 538 581 3 4 3 1 0
FET=TH 307 872 436 436 -3 -9 -1 0 -8
hETE 1,260 3,403 1,655| 1,748 2 -5 0 0 -5
EER—TH 430 | 1,077 481 596 1 4 0 0 4
EEZTH 402 | 1,081 536 545 0 0 1 -2 1
EET=TH 449 | 1,188 557 631 0 2 -1 1 2
ERTUTE 426 | 1,358 643 715 0 -1 -1 0 0
IR B L,707] 4,704| 2,217] 2 487 1 5 -1 -] ¢ )
AE—TH 192 496 207 289 0 -1 0 0 -1
ARTZTH| . 266 741 317 424 -2 -3 -1 -1 -1
AEI=TH 344 | 1,014 456 558 2 4 4 -1 1
AETMUTE 354 982 467 515 3 7 5 1 1
AETEF 1,156 | 3,233 1,447 1,786 3 7 8 -1 0
AN 27 69 35 34 0 0 0 0 0
EET—T8 207 604 292 312 -1 -3 -1 0 -2
M _TH 211 565 252 313 0 0 0 0 0
HEET=TH 346 993 470 523 -1 -2 -1 0 -1
EETUT B 287 706 335 371 0 3 2 1 0
AT E 1,051 2,868 1,349| 1,519 -2 -2 0 1 -3
HFE—TH 274 748 359 389 2 -7 -6 -1 0
FEA_TH 140 377 188 189 -3 -8 -7 0 -1
EH=TH 448 1 1,159 611 548 6 10 15 -1 -4
ENNTH 357 | 1,063 522 541 0 3 5 -1 -1
FEERLTH 459 | 1,102 556 546 -1 -4 -6 -1 °>
AT S 1,678 | 4,449| 2,236| 2,213 4 -6 1 -4 -3
RE—TH 771 2,190| 1,055| 1,135 1 -2 -4 2 0
HATZ-TH 195 561 251 310 0 -2 -2 0 0
RET=TH 483 | 1,343 658 685 1 -3 -2 -1 0
RETMTE 206 599 289 310 -1 -5 -4 0 -1
HETHETH 273 722 347 375 -2 -2 -2 1 -1
AT 5 1,928 | 5,415| 2,600| 2,815 -1 -14 | -14 2 -2
BIL—TH 663 1,779 878 901 -5 -3 -2 1 -2
BIL_TH 535| 1,425 668 757 1 7 -3 3 7
BU=TH 569 | 1,489 749 740 1 -1 -1 2 -2
W TH 188 526 238 288 -1 0 0 0 0
L 1,955 5,219] 2,533| 2 686 -4 3 -6 6 3
BE—TH 1,086 2,895| 1,482| 1,413 -9 -10 -8 1 -3
BEI_TH 647 | 1,802 875 927 2 6 2 0 4
BE=TH 560 | 1,493 773 720 1 0 1| -1 0
| EBETIUTE 110 230 | . 126 104 -1 -1 0 0 -1
BEYETH 575| 1,679 820 859 -4 -4 -3 2 -3
BRTATE 2 3 2 1 0 0 0 0 0
LI 2,980 8,102] 4,078 4,024 ~11 -9 -8 2 -3




BERTIERE (Eks4E12H 26 B R17)

X 4 HHEE | B K 5 Z i AO iila! B8R s
YR HER 2E R R

% 1 8 5 3 0 0 0 0 0
+ =F 18 49 21 28 0 0 0 0 0
Ik & 1,220 3,444| 1,706| 1,738 7 10 6 4 0
B 25 89 43 46 0 0 0 0 0
o 100 202 114 88 2 -1 0 0 -1
FHE 37 85 37 48 2 3 1 0 2
% & 254 693 342 351 -2 -5 -1 -1 -3
HEIFE 3,161 8,585| 4,209| 4,376 8 17 3 3 11
HEiR 8031 2,322] 1,163| 1,159 -3 -6 -1 2 -7

£ F it 1,790 5,118 2,547 2,571 1 16 13 2 1
i PAD] 7891 2,310| 1,126| 1,184 -1 5 -5 4 6
g | 196 620 306 314 1 0 4 0 -4
=) 460 | 1,373 680 693 0 0 1 3 -4
2 645 | 1,907 969 938 -1 4 -1 4 1
B 396 | 1,337 651 686 -2 -1 -2 1 0
b/ # 603 | 1,946 928 | 1,018 1 2 -4 1 5
BT H 275 880 447 433 -3 -9 -7 0 -2
X _ER 497 | 1,633 781 852 2 2 , -3 1
JNERETH 146 407 205 202 2 2 1 0 1
A BF 4,339 12,481 | 6,145| 6,336 -17 -26 -29 5 -2
1B 1,359 3,919| 1,867 | 2 052 -2 -1 2 -1 -2
HIRE 172 443 211 232 0 -1 -2 0 1
B & 495 | 1,562 775 787 -4 -3 -5 2 0
AEH 3991 1,262 516 746 2 0 1 -3 2
KZRE 19 82 44 38 0 0 0 0 0
BJI—=TH 184 501 228 273 1 -2 0 -1 -1
BINZTH 287 681 319 362 6 11 5 1 5
BI=TH 447 | 1,107 563 544 -2 -3 -2 0 -1
2 i 5111 1,692 762 930 -2 -1 4 -2 -3
25t 1,429 3,981 | 1,872| 2,109 3 5 7 -2 0
T & 591 | 1,647 890 757 -2 0 -1 0 1
5 B 1,571 1 4,482| 2,300| 2,182 6 15 10 2 3
x {E _ 7021 1,987 995 992 -1 -4 -4 4 -4
B = 2,147 5,960 | 3,001] 2 959 -1 -14 -24 1 9
L¥H 169 464 246 218 0 3 1 2 0
FH A 50 146 77 69 0 0 0 0 0
THH 101 269 138 131 1 1 1 0 0
HIEE—TH 414 1,162 595 567 16 56 41 3 12
HEE_TH 928 | 2,410 1,239| 1,171 4 7 -6 1 12
M E=TH  653] 1,858 959 899 -1 -2 -2 0 0
R E F 1,995] 5,430] 2,793| 2,637 19 61 33 4 24
g 1,751 | 5,283| 2,615| 2 668 4 -18 -6 -2 -10
I 2,829 8,296 | 4,079 4,217 0 19 14 11 -6
fR R 1,572 4,707 | 2,392| 2,315 5 10 8 1 1
B H 1,272 3,478 | 1,921 1,557 -5 6 3 9 -6
. JE 374 | 1,197 600 597 3 4 4 -1 1
ol I 212 692 363 329 4 12 5 1 6
5 H 636 | 1,959 | 1,004 955 -4 -4 -4 5 -5
F £ 1,030 3,521| 1,746| 1,775 -1 -1 -5 6 -2
X 5 356 | 1,093 542 551 0 -2 -2 -1, 1




W e AT EFF (P84 127 26 F B7T) .

N T ez
X 4 HEE | R % 5 Z Uk An hila! B 4
HE HER BE R R
HRK 37 130 66 64 0 -1 -1 0 0
BAAK 170 594 279 315 2 7 5 0 2
EE 140 448 228 220 0 -1 0 0 -1
HEE 322 | 1,083 538 545 0 -2 3 0 -5
EERRE 232 860 419 441 -1 ~13 ~10 0 -3
HEAIFT 247 906 434 472 1 7 4 2 1
HEE 179 947 478 469 0 0 0 -1 1
= Eimini] 134 413 189 224 -1 6 5 1 0
EfFE—TH 123 348 174 174 0 0 0 0 0
ENE_TH 269 765 374 391 0 -3 -2 -1 0
EfE=TH 247 662 326 336 26 49 23 0 26
EFENTH 152 510 245 265 1 -3 -5 1 1
EfERLTH 183 553 274 279 -1 -1 5 -1 -5
EfFiE 1,959 5,776 | 2,904| 2,872 1 5 -3 1 7
EAFEES 2,933 | 8,614 | 4,297 4,317 27 47 18 0 29 |
A B 930 | 3,120] 1,595] 1,55 -2 -7 -9 0 ()
EH—TH 856 | 2,389 1,1811| 1,208 -4 -13 -13 2 -2
BEE_TH 985| 2,808 | 1,452| 1,356 -1 . 4 3 0 1
BEE=TH 3741 1,069 534 535 -1 1 2 1 -2
BEANTH 443 | 1,353 655 698 2 3 2 1 0
BEYETH 440 | 1,275 648 627 3 6 9 -1 -2
BEEATH 297 924 486 438 -2 -4 -7 2 1
BEEtTH 83 174 115 59 0 1 0 1 0
B 48 245 706 365 341 -1 3 0 1 2
BEEE 3,723 | 10,698 | 5,436| 5,262 -4 1 -4 7 -2
EEE—TA 289 706 361 345 -2 0 -4 2 2
EBE_TH 208 640 317 323 -1 -1 -3 1 1
EEEG=TH 224 636 311 325 0 0 0 0 0
EiEE 5 7211 1,982 989 993 -3 -1 -7 3 3
/NN\IE—TH 372 1,024 530 494 -1 0 3 0 -3
/NAEZTH 607 | 1,821 881 940 3 10 7 3 0
NA\E=TH 399 | 1,097 534 563 -3 -11 -6 -2 -2 )
/N\IET B 221 584 302 282 -2 -1 - -1 1 -1y
AN 36 108 52 56 0 -1 0 -1 0
AN\ BB 1,635] 4,634! 2,299| 2 335 -3 -3 3 1 =7
A B 81 331 158 173 0 0 0 0 0
XK 126 482 225 257 -1 -3 -4 1 0
RAFII 232 795 373 422 0 0 0 0 0
Tzl 136 522 257 265 0 -3 0 -2 -1
LER 201 832 393 439 0 -1 0 -1 0
TR# 207 763 386 377 0 0 0 0 0
2o 368 | 1,027 503 524 4 5 7 1 -3
BHH AR 43 185 90 95 0 0 0 0 0
Al JIl 1,095 3,404 | 1,744| 1,660 5 12 1 4 7
PRE 171 567 279 288 -1 -2 -3 0 1
P 980 | 3,177| 1,582 1,595 1 5 -1 1 5
£ o 68 266 131 135 0 6 0 1 5
A BB 198 770 384 386 0 1 0 1 0
7 29 124 52 72 0 0 0 0 0
Bk 79 375 195 180 0 1 0 1 0
) 1,004 | 3,465| 1,720 1,745 2 5 2 -1 4
* RPD 0 1F, ZHEKELRLERLET,



BEEWRTIER (FRE84E128 26 B 3817)

1. AD - EES TReFI10A1BRE 18 &OHEER)

A\ 200,290 A 102 At
5 99,149 A 53 A
pie 101,141 A . 49 A

##s 68,664 78 i

2 K- XARAD - HEHEHEET1 AR DOEEAR
(FR 8 €108 1 REAE)

X & HEE | B & 5 28 LK AO il Ep7S #He
HER HE %E) HER R

& F 68, 664 {200, 290 | 99, 149|101, 141 78 102 0 73 29
K Fr 30,807 | 86,465 | 42,201 | 44, 264 23 4 -17 22 -1
K # 2,582 7,604 | 3,576| 4,028 -12 -17 -13 0 -4
2 1,429 3,986 1,880 | 2,106 0 5 -3 0 8
¥ H 4,579 | 13,564 | 6,678 | 6,886 -1 -15 -12 6 -9
g 3,231 9,426 4,938 4,488 13 44 35 12 -3
R 2,581 8,429 | 4,225 4,204 0 -8 -3 -6
TE#H 1,120 | 4,216| 2,061] 2,155 5 7 4 3 0
Aol 581 | 2,139 1,017| 1,122 6 9 4 5
= 818 2,799 1,369 1,430 0 -8 -2 -1 -5
% 3,425 | 11,754 | 5,826 5,928 3 4 0 -5 9
vHE=x 17,511 | 49,908 25,378 | 24, 530 41 77 7 35 35

3 9 A AOFEE

X 4 &t % =
& 102 53 49 */NBERETOAD LT, )| REHEELG)IC
H R 73 48 25 ESEBARBLTVETS, AEIL. 5EZLICH
H A 172 96 76 DNIEZREOAD - HEREZEBL LTERES
¥ T 99 48 51 BRE, AEABRRERVFEEOEDIZLE EA,
ft & 8 K 29 5 24 T, HAE FCOAROBHE*EA MBS 2 5
= A 559 292 267 ICEDERBLTWVET,
B4 G 264 133 131 o, BERWHEEBEN10A1BBENAN
B 290 155 135 z, BEAQL, £/, ZRUAD I HEEOAD %,
F D 5 4 1 HEETA O L MEA TUVET,
T 530 287 243
Bt~ 241 133 108
BA~ 287 153 134
F DA, 2 1 1




EERERATEY (CEMSE128 268 BIF)

5 BITFHAO - HEHH (CEp 8 #1048 1 BHETE)
X 4 R | % %K P> = g Ad G2 B8R £
HE IR HEIRL 22 P R
& &t 68,664 1200,290 | 99, 149 | 101, 141 78 102 0 73 29
FE—TH 274 835 357 478 -1 -3 -2 0 -1
KEI_TH 339 899 431 468 -2 -2 -2 0 0
KET=TH 455 1,090 537 553 0 -8 -9 0 1
KETMTH | 364 | 1,021 480 541 -2 -5 -3 -2 0
FHTE 1,432 3,845| 1,805 2,040 -5 -18 -16 -2 0
FET—TH | .  559| 1,410 679 731 3 -2 2 1 -5
FE_TH 397 | 1,126 542 584 0 7 7 1 -1
FE=TH 305 868 433 435 -2 -4 -5 0 1
PETE 1,261 3,404 1,654| 1,750 1 1 4 2 -5
EET—TH 431 1,074 479 595 1 -3 0 -1 -2
ERTZTH 401 1,076 532 544 -1 -5 -3 -1 -1
ER=TH 449 | 1,188 558 630 0 0 0 -1 1
EETIUT B 428 | 1,364 646 718 2 6 4 0 2
RT3t 1,709 | 4,702] 2,215 2,487 P -2 1 -3 ()
ABT—TH 192 495 207 288 0 -1 1 0 -9
AET_TH 266 740 314 426 0 -1 -1 1 -1
AET=TH 345| 1,018} 459 559 1 4 -1 0 5
AETETH 354 983 467 516 0 1 2 0 -1
AETE 1,157 | 3,236 | 1,447 1,789 1 3 1 1 1
A 28 |, 70 35 35 1 1 0 0 1
MEET—TH 206 604 291 313 -1 0 0 1 -1
BEE_TH 213 572 255 317 2 7 4 -1 4
EE=TH 347 991 468 523 1 -2 0 0 -2
AT T H 285 703 335 368 -2 -3 -1 0 -2
LI 1,051 | 2,870 1,349 1,521 0 2 3 0 -1
FI—TH 276 747 359 388 2 -1 -6 0 5
FE_TH 141 380 187 193 1 3 2 0 1
FE=TH 451 | 1,165 616 549 3 6 7 -1 0
FZETOT B 356 | 1,060 520 540 -1 -3 -2 0] -1
FELTH 465 | 1,113 561 552 6 11 9 -2
FZETS 1,689 | 4,465| 2,243| 2 222 11 16 10 -3 L/
RET—TH 769 | 2,185 1,051] 1,134 -2 -5 -8 2 1
HET-TH 196 563 253 310 1 2 -1 0 3
HET=TH 483 | 1,346 660 686 0 3 0 2 1
FETWUTH 208 601 291 310 2 2 0 -1 3
HEETH 274 724 348 376 1 2 1 1 0
T 5 1,930 | 5,419] 2,603 2,816 2 4 -8 4 8|
BI—THB | 659] 1,771 875 896 -4 -8 | -1 0 -7
BWILZTH 536 | 1,434 671 763 1 9 2 2 5
BRIU=TB8 562 | 1,480 741 739 -7 -9 -3 0 -6
RILOTH 186 521 236 285 -2 -5 -4 0 -1
L E 1,943 | 5,2061 2,523| 2,683 -12 -13 -6 2 -9
Bf—TH 1,083 | 2,885| 1,477 1,408 -3 -10 -2 1 -9
BEI_TH 649 | 1,800 871 929 2 -2 -1 -2 1
BE=TH 563 | 1,497 774 723 3 4 1 -1 4
BEIUTH 107 2217 124 103 -3 -3 -1 0 -2
BETETH 576 | 1,677 819 858 1 -2 4 -1 -5
BEATH 2 3 2 1 0 0 0 0 0
LI 2,980 | 8,089 | 4,067 4,022 0 -13 1 -3 -11




Fe BT IEY (CRs4E128 26 B 4T)

X 4 HEHE B % 3 Ly o Ad hita! B s
R HER B2 R X

o 1 8 5 3 0 0 0 0 0
+ =F 18 49 21 28 0 0 0 0 0
K _E 1,225 3,446 1,707 | 1,739 5 2 =6 0 8
B B ‘ 25 88 42 46 0 -1 0 0 -1
ok 97 198 113 85 -3 -4 -2 1 -3
A 36 84 36 48 -1 -1 0 0 -1
% 255 694 343 351 1 1 -3 1 3
HEIEF 3,161 8,580 | 4,213] 4,367 0 -5 -5 0 0
iR 814 2,361 1,183] 1,178 11 39 16 4 19
R F [ 1,795| 5,128| 2,550 2,578 5 10 11 0 -1
HZAN 787 2,302] 1,121 1,181 -2 -8 -9 3 -2
Gl 197 622 306 316 1 2 0 0 2
= 463 | 1,382 686 696 3 9 0 4 5
5 B 6431 1,900 964 936 -2 -7 -9 3 -1
Bl 399 | 1,339 653 686 3 2 - 3] 2 -3
/& 605 | 1,949 928 | 1,021 2 3 4 1 -2
BEAETH 278 889 450 439 3 9 8 2 -1
B 496 | 1,626 774 852 -1 -7 -5 -1 -1
N ERHTH 145 407 205 202 -1 0 -1 0 1
A B 4,334 12,456 | 6,132| 6,324 -5 -25 -10 4 -19
B 1,356 | 3,918 1,864| 2, 054 -3 -1 -2 3 -2
R 170 440 210 230 -2 -3 -2 -1 0
B = 494 | 1,558 771 787 -1 -4 -5 1 0
AER 396 | 1,257 515 742 -3 -5 -3 -3 1
KZE 19 82 44 38 0 0 0 0 0
B)N—TH 185 503 230 273 1 2 2 0 0
BIIZ=TH 287 685 324 361 0 4 0 0 4
BII=TH 450 | 1,115 567 548 3 0 2 6
8 Ji 507 | 1,683 759 924 -4 -9 -5 -2 -2
B)UEt 1,429 | 3,986| 1,880 | 2,106 0 5 -3 0 8
T R 595 | 1,652 892 760 4 5 3 1 1
F H 1,575] 4,490| 2,304| 2,186 4 8 -3 5 6
x _fE 704 1,994 1,000 994 2 7 -1 1 7
= 2,166 5,976 | 3,016! 2,960 19 16 -4 4 16
¥ HE 169 465 246 219 0 1 1 1 -1
b Silas) 51 147 77 70 1 1 0 0 1
THH 102 270 140 130 1 1 1 1 -1
EWBE—TH 47| 1,172 600 572 3 10 11 1 -2
mEE_TH 923 | 2,393 1,229] 1,164 -5 -17 -10 -1 -6
FEIEE=TH  648| 1,850 954 896 -5 -8 -5 2 -5
e E 5t 1,988 5,415 2,783 | 2,632 -7 -15 -4 2 -13
= 1,748 | 5,275| 2.608| 2,667 -3 -8 -12 3 1
i 2,831| 8,289| 4,070| 4,219 2 -7 0 3 -10
iR R 1,577| 4,736| 2,410 2,326 5 29 22 10 -3
&’ H 1,280 | 3,495| 1,929| 1,566 8 17 12 2 3
£ J 374 | 1,195 599 596 0 -2 1 0 -3
A 4 213 694 364 330 1 2 0 1 1
= _H 635! 1,955| 1,003 952 -1 -4 -3 2 -3
T {R 1,030] 3,519| 1,745| 1,774 0 -2 -1 0 -1
X% 358 | 1,096 544 552 2 3 1 -1 3




P AT E S (FReE128 268 %*ﬁr’;}‘ ~

P B

X 4 HEH B % B @ A An il B8R #HE
HE HE L BE PR R
HKRKK 37 130 66 64 0 0 0 0 0
BARK 168 588 275 313 -2 -6 0 0 -6
E 140 447| ' 228 219 0 ~1 0 -1 0
B 323 | 1,085 539 546 1 2 1 1
BERRE 233 860 419 441 1 0 0 2 -2
EERBIFT 248 908 436 472 1 2 3 -1 0
SR 180 948 478 470 1 1 -1 0 2
e iR 135 415 189 226 1 2 1 1 0
EfE—TH 122 344 171 173 -1 -4 -3 0 -1
EMFE_TH 267 769 377 392 -2 4 3 0 1
ENE=TH 248 662 324 338 1 0 0 -1 1
EfENTH 154 519 252 267 2 9 5 0 4
EMERTH 187 564 280 284 4 11 4 ~1 8
EATE 1,955| 5,760 | 2,896 | 2,864 -4 -16 =20 8 -4
EAFEst 2,933| 8,618| 4,300 4,318 0 4 -11 6 9
A & 933| 3,121| 1,598| 1,523 3 1 -2 2 (3
BE—TH 860 | 2,399 1,186| 1,213 4 10 10 -1 1
EE_TH 988 | 2,804| 1,452 1,352 3 -4 -1 -2 -1
BE=TH 375 1,070 537 533 1 1 -1 3 -1
BHEWNTH 444 1,355 656 699 1 2 -1 0 3
BYHETH 443 | 1,286 655 631 3 11 7 3 1
BEATH 295 924 486 438 -2 0 -4 4 0
BEETH 83 176 117 59 0 2 0 2 0
B A 245 707 365 342 0 1 0 0 1
BHEEt 3,733 | 10,721 | 5,454 | 5,267 10 23 10 9 4
mEE—TH 290 709 362 347 1 3 1 0 2
BiEE _TH 210 646 319 327 2 6 4 1 1
BiEEY=TH 223 636 310 326 -1 0 -1 1 0
FaiEE 5 723 | 1,991 991 | 1,000 2 9 4 2 3
/N\E—TEH 369 | 1,020 530 490 -3 -4 0 -1 -3
N\IE_TH 612 1,839 893 946 5 18 8| 1 9
/W\EBZ=TH 399 | 1,101 539 562 0 4 -2 2 4/3
/BT B 222 587 303 284 1 3 4 0 -1y
VAN 37 110 53 57 1 2 0 0 2
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